!

S Ittt
SHINKOKIKI Co., Ltd.



Bx =]

FyIUBA U IER 0-0
Frvb— 2 (2
PCFvIRLwiF— 3 @
TRM R—JLEBR N v — NS
BTD N—2F v JHERR—JLEL R v H— 5 8
CRM-117 R—JUBESEIF v TR v — 6 [
SK-10D R—JVBERNGEF v TR v — 7 8
SK-11D R—)LEESELIF v T Ry — 8 A

FvvIFyIRIEEE T8
PCFvIFIvIv— (ORYbSAVH) 0 (2
FryvIFVIRRTE

DY FF v IFvIHNL IR E
HLOM 2 (2
FrvIFVINL/ FryvTFvIHNL W KIS
ROBE 13 (2

SEMO ERE

Fv RIS T4 —5—
RS> 5 I3
TJIZwOR IEE
25— 17 [
ATO—"YR/ YRV S — 18 [
F—hrys— 19 [
FOATRILNT—5— 20 [
Uz Bl 21 [
N BYIBEBERILF ARy 1w ~ 22 (m)
IREBADYI—H—F«T 23 [4
FIRBsEAY Y5 — FS-AD-01 (DY TUtY EFIL) 24 |4
AR T P — IR\ — 25 [
I7—Y 1w AV MEfE FMC-AJO2 25 |4
I7—YTv Sy U—4# FMC-AJO3 26 [
REHEEE ~D
JOyzovavryh/RILbey NPy T RRGHEE
PC FR&— 29 (2
F vk PCFRI—TF 31 (@
Ty P v I RNRHER
Mr.X003 2 |
Mr.X002 33 |4
Ty —IvyY 34 |4

ZOfth D |
D(EH 36 [d
REKKBEREE Dr—5—0—h 36 [d

(RFHAESbm—E (378552)

37-52



CONTENTS
Tip recycling equipment
Cappy

Page

0-0

PC tip dresser

TRM drilling machine dresser

BTD dedicated drilling machine dresser for base tip

CRBM-117 drilling machine mounted tip dresser

SK-10D drilling machine mounted tip dresser

SK-11D drilling machine mounted tip dresser

0]} m||w]|w]| )| T;

Cap tip change/tool

PC tip changer (for robot line) 10 [
Cap tip change tool
One-touch cap tip removal 2 |
Eagle claw I P
Cap tip removal / Cap tip removal W 1B A
Bird's eye 13 (@
Productivity enhancer
Nut/Bolt feeder
Dragon 15 [3
Phoenix ICEE
Star 17 [3
Yellow head/Red cylinder 18 4
Auto shutter 19 [
F type bolt feeder 20 [
Pin-no-suke 21 |2
N type switchable electrode Multi-spot unit 22 @
Welding shots number management counter Guardian 23 E
Welding shots number management counter FS-AD-O1 (one-preset model) 24 [
Air blowing device with timer function Hurricane 25 [3
Air jet Gun pressure specification FMC-AJO2 25 [d
Air jet Magnetic sensor specifications FMC-AJO3 26 [
Quality judgement equipment Q~€D
Projection nut/bolt setup defect detection equipment
PC tester 29 (=)
Nut PC Tester Petite 31 (=
Setup fault detector
Mr.X003 32 |
Mr.X002 33 [d
Pressure judge 34 |4
Other m
Swallow 36 [
Cooling water volume monitoring equipment Water gate 36 [

Maintenance/Consumable parts list



Q—

- 9‘ v 70 U .U.'fa' bglﬁ Tip recycling equipment

EREHF VI ZBRETDIHDERETT,

BT, FEIFYATHESBEFHIAM TEFTHERD=-—XI[CE IRz
ZHBDHATHEDET,

Equiputment for re-polishing used tips.

We offer a wide range of products, from manual to automatic types, to
match our customers' needs.

B OREF vy ITFy ITRRERBRIEA—E

List of our standard cap tip shapes and their application by product

N @ | D

wE— . .
i&; O Bt ¢ O O
e 0 % ¥ O 0
TRM O N O O O
CRM-117 O A x O O
SK-10D O O X O O
SK-11D O O x O O

O #EAA A RFREX X EAARE % ZHEHR

O Applicable 2 :Special order X :Not applicable % : To be discussed



SHINKOKIKI

[ FryE—

(—\
HvE5—3H
Cutter blade

TSR
\ Polishing part I

( FrvvoTwvy h
Chuck shank

BERFvvITFvIZ
Ty g BHED
The part where sets
polishing cap tip

\_

R Featu! :r:e:s,

Cappy

(GRS %A TV )
Tip detection part % Option

Fy UYL T VKRE

Tip recycling equipment

P

FeimiZ IR, VIHRREDAIE
Tip shape
Measurement of cutting conditions J

\_

()= T—5— )

Parts feeder

BEAFvYITF

Ad

Polishing cap tip
Input port

v

_J

HHRER
Supply part

BT

cap tip

#HiaI 28D
The part where supplies polishing

~

_J

FvvITF v ITRmEBOBMEZEE TTL. MEBRORT(CLDE?,
HvEF—HF. B 1 RN ZER,

Fully automated re-polishing of cap tip tips, sorted by length after polishing.
The cutter blade uses a single carbide blade.

{Ti% Specific:a:ti:o:n'

NETE D 750 750
External dimension W 1481 1250
(mm) H 1662 1500
= £ Weight (kg) 500 420
FrwTFvIBEEXLE Automatic cap tip feeding -
tIEIEAIE Cutting length measurement g
22 e ERIEIN 2 &R (21mm DL 21mm i)
4 IevelsLéEr;JrEng gngzg?allection Sorting and collection 2 levels
3 BE Function (21 mm or more/less than 21 mm)
FvwIFvIHEEEE Cap tip insertion/removal -
A Vv FT  Insertion: Shank method HNF+woHI Outer chuck method
fi&E - ABMEBEMICKDT I -
Detachment: Leveraged by movable and fixed pawls
BIREE . =4 AC200V 0.75Kw
Control voltage AC200 ~220 (V) 50 /60 (Hz) Three-phase AC200V 0.75Kw
T & HIEEEE -
Rated value ower supply voltage bCz24v
JZ=
F{Eﬁjﬁlgjd [E#aZes Compressed air (0.4 ~ 1.0MPa) [E#EZe& Compressed air (0.5MPa)
®m B A H B E 0~40T (BL. BERUBELENT &) -
Operating ambient temperature 0 to 40° C (with no freezing or condensation)
BRHFv Y IFvIER ARl PRI FRL REAI (), E& () -
Applicable cap tip shape Type A, Type P, Type F, R type (%), E type (%)

8542/ MM Parts/Consumables)

SEimis
Tip detection | = cap tip is good or

HERDF v v ITF v IDEIHEIROEBEZHE
Tip detection judges whether the tip shape of

¥ TAERX % Further discussion needed

bad after polishing

$Hws—3H Cutter blade P.38
HwH—iJLF— Cutter holder P.40
Fyvov>7 Chuck shank P.40




S

b 3 ) A W | ZI:I:E
ﬂ: CFvJIJRLyH— PC tip dresser ?fp{zyg"‘njg'fe NEE a
IFP—J0—)A T (FTV3) BE Featur:es'

Al IO Bl (e VI NTHOBRS, )\ )ID—BE—5—&EH.
KBS W& =RV —IC KDY DEED HYEA
BRBox  _ETNERYIEINATRE,

oA ZES) Ny 5—Nd, BEBVEHA. i i

Oty DYI—RILI—DA DS54 IV TR [CRD. ETFFvIITH

U CH—7E T CHIEIN A AT RE.

Ay I—RIIF—Z EIRFP U VI TXADEEICKD. SHBEL
YIHIII A AT BE.
EROER. 5 MUY Ry Y —(C KD UIEIREDOXIEEE.
X ETREAKS
Compact, yet equipped with a high-power motor.
Large cutter holder reduces tip clogging.
Simultaneous upper and lower polishing is possible.
The equalizing function* of the cutter holder enables polishing with
uniform force against the upper and lower inserts.
The cutter holder is supported by upper and lower bearings, enabling
high-precision polishing.
High-speed spin and high-torgue dresser significantly reduce polishing
time.
% Shock mitigation mechanism

{14 Specific:atiaon

Main unit

il SR el e
T ¢ %HZT_'_;E% D 579
== a External dimensions W 398
ey (mm) H 700
r *: : M BIREX AC200V 415V (50Hz)
L Power supply voltage AC200V 430V (60Hz)
W & 73 Output 0.75kW 4P
B &5 # Revolutions 460  560rpm (50 / 60Hz)
tIHIBSRS  Polishing time 0.3~1.0#% 0.3to 1.0 sec.
- YIHIINEEEE " "
[Er ! i Sellsli e presEE e 1078 ~1470N / 110 ~ 150kgf
| ' I | 13 FFE016 F v TF v KR IREYED)
g l , | ' | f AFF w7 Target ti 13 or ¢ 16 cap tip (special shape can be manufactured)
= = = = 5 B
i i~ CHY/ XA/ A=AV —IR-ITF7HY)
\ R ot C gun / X gun / straight gun (servo, air gun)
| 7% Box BAF Y TFVIRIR AR PR, FH
\ BT STl T Applicable cap tip shape A type, P type, F type
e : ¥ HEA= RE - U8 Box BT

% Dimensions = Including stand and cutting powder box

2p41/EFEGafth Parts/ Con:su: m:ab:l:e:s,

B8R Box Power Supply Box —

285 (RFR) Stand —
Tr7—2JO—)\L7 PEIERIC T 7 —ZREFF I DED AT ED
Air blow valve Blows air into the polishing part to reduce tip clogging
AEA DTA Y VI RERE PHIMN TR DEEZIRIN. FEFT D
Main unit equlizing function Absorbs and mitigates shocks during poloshing

$1wA&—3H Cutter blade P.38, P.39

HwH—ik)LF— Cutter holder P.40

RSF - 248 - (BEOER(ICIE. RECEED [HFONTVD VU P ILESZHMSELIEEL,
For maintenance, inspection, and repair, please inform us of the serial number attached
to the main unit.



SHINKOKIKI ()

) —
» ru “ n dE
ﬁ RM =LK RLwHY— TRM driling machine dresser ?fp{gy'ﬁlgg’ga,féﬁﬁ

=

Patented

R=)LBEDETOAYDOEZ L v Y —HERNEBICH DA M
BOIRNL. FURBOEE Y ZEE,

AvE—=H. RV —DIRTH v v TF v TH S FEREBEEE T
1BIL Bz T D N ERE.

HBIE 1 N ZHRA (REEE 800rom).

A guide mechanism inside the dresser body absorbs the vertical
rattling of the drilling machine to reduce chatterimg during
polishing.

A wide range of polishing from cap tip to lower electrode is
possible by replacing cutter blades and holders.

Single carbide blade is used (optimum spin speed: 800 rpm)

{14k Specific:ati:o:n,

FLyHB—AwR

Dresser head

SfgtE | W | 055 .
External |
dimension H 128
(mm) A ®13
RLwH—~R—X D 60
Dresser base AFT3E W 200
— External
B _-H
dimension H 79
[ B | 2014

BA* v v IFITRAR

AR ER PAY FEY
Type A, Type E, Type P, Type F

T T 2B HEH 1A Anplicable lower.electrodeisize

»25 ¢30

8542/ HHESAE Parts/Consumables)

A bw)(—H8E  Stopper function | BID I EBRFIEDIcHDEMBEILREEE Fixed position stopper function to prevent over-polishing

BiER)LY— (FvwTIFwvTH) Electrode holder (for cap tip) P.40
Bih)LY— (FEEMA) Electrode holder (for lower electrode) P.40
FPIv NI T (FEREMmA) Adjusting ring (for lower electrode) P.40

Hw4&5—3H Cutter blade P.38, P.39




S

N A e AN
Dresser head

HyF—X
Cutter blade

N—AFvF
Base tip

RILE—
Holder

BERAN—AF I RAK Applicable

AR W-BT-S-1 (06 A)
W-BT-S-2 (¢ 8 A)
W-BT-S-3 (75w b
Our standard product: W-BT-S-1 (for ¢ 6)
W-BT-S-2 (for ¢ 8)
W-BT-S-3 (for flat)

8041/ HHES Mt Parts/Consumabes)

DB
Cutter blade

P.38. P.39

BTD X—XFvIgERAR—IILEXRL v T—

BTD dedicated drilling machine dresser for base tip

Fyv UYL TIEE @

Tip recycling equipment

WD SK-10D O R v I—X—=XI[CERDNIILY —, DvF—
NZEO S X—=RXF v TOBMEZARE,

A special holder and cutter blade are mounted to the dresser base
of the conventional SK-10D, allowing the base tip to be re-polish.

{T% Specifica:tinon

RUwH—AwR Dresser head

SRt E b ®35
External dimension| H 69
(mm) A 013

K224

= i e
H I
kLY —  Holder
%HZT_TE W $20
External dimension
(mm) H 100
H

RLwH—~_—X Dresser base
50
200
64
140
2-¢p12

PASIAAI
External dimension
(mm)

W > I =|0




SHINKOKIKIG)

CRM-117 HR—LEBEUBIFy TRy Y — FyPUA 7 EE E
CRM-117 drilling machine mounted tip dresser Tip recycling equipment

Y$E Features ]

R—)UEICED NI DRI TEEICF vy T
F v IO R ADEEE,
ANy RERIEAA PEBZAB L. FURAROEE U ZER.
RLyH—AwR HID i DEE7Z RN T D Z .
Dresser head A S —HNIFHBE 1 WHZHRH.

Cap tips can be easily polished by simply mounting on a drilling
machine.

The head part has a built-in guide mechanism to reduce chatter
vibration during polishing.

Built-in mechanism to absorb the shock at the beginning of polishing.
Cutter blade is used a single carbide blade.

{148 Specification)

RUwHY—AwR Dresser head

N il Gal
ARG — External dimension | H 95
Holder (mm) A 13
LW —~—X
Dresser base
= <
= Lo— ==
=1
KL wH—~_—Z Dresser base
D 50
SRt i —
External dimension| H 64
(mm) A 140
JLF— Holder B 2-9l14
. B
$12.6 |l
>—/%— 1/9.6 I W @R\ : g,,g
7 Teper 1/9.6 {} kﬂ} {
o
—— %
i T
[ I ) I $ — 1
1 i i

ER+ v v IFUTHAR Avplicablelcapitinishape) 8541/ H#ES 1t Parts/Consumables))

AR P#, FE
Type A, Type P, Type F Hw4&—3H Cutter blade P.38, P.39




Q—

" /SKI0D FRILEEHEF T KLy —

SK-10D drilling machine mounted tip dresser

BE FeatuDres

MR—)VEICED NI BT THF vy TF v TDEELFIRE,
IV —DEB(CLD, A ML—hFvTDEESERE

Cap tip can be polished by simply mounting it to the drilling machine.
Holder can be changed to polish straight tips.

FrvIFvIRILE—

FuTUBATIERE

Tip recycling equipment

S

RLwH—Aw R

Cap tip holder

XA T3

AU—hF v TRV —
(16-1 /10 -16-1 /5 A)
% Option

Straight tip holder

(For 16-1/10 and 16-1/5)

Dresser head
NyIT—T—2R
(p9-012-913-913.6-¢16- p16.6 F)
Cutter case
(for 9, p12, 13, p13.6, 16, ¢ 16.6)

HYvEF—H ¥ )\4 R 2K-H
Cutter blade
% High-speed steel double blade

BEICRU Yy =AY RZESKDT, Hv
F——AZBRETTHATNDEEF.
EEROFTTHEHK T,

If you have already purchased a dresser
head and wish to purchase the cutter
case separately, please contact our
sales office.

BE Featu:Dres

RUwH—AwR Dresser head I i
ANEATE W ®» 36 |
External dimension H 80 = T@

(mm) A 012 1{

RLwH—~_—X Dresser base

D 50
A w 200
External dimension H 64
(mm) A 140

B 2-012 _

ERF v v IFITHAR

AZI RE, PE, FE

Type A, Type R, Type P, Type F

{L4F Specification
. ANU—bhFvT
AN=RTYT L mmLs— (013016 E5)
Vi ; ’
Straight tip

Straight tip holder | b iated holder (@ 13/ ¢ 16 dual use)

B
;
[ | |
Rt € | I, S
| 15§ |
A
W
!
-
fai)
7
! ac
|

HwA—3F Cutter blade P.39
Hw&H—4—2X Cutter case P.40




SHINKOKIKI ()

/SK—HD R—)VEREEIF v T RL v — 757U s JILEE (O

SK-11D drilling machine mounted tip dresser Tip recycling equipment

$FER Features)

R—)LVEBICIO MIF BT TF v v TF v TOEIELAIRE,
N—=AFKED)\2 BILZBF S THF v v TTF v TOED N UHAEE,

Cap tip can be polished by simply mounting it to the drilling machine.
The cap tip can be removed simply by turning the handle on the base body.

FLyt—nv i

FrvyvIFvImILY— l g Dresser head
Cap tip holder | HwE——2
(p9-pl12- 13- 913.6-p16- »16.6 A)

Cutter case
(For 9, @12, 13, »13.6, 916, p16.6)

HvE—H ¥ )\(R 28H
Cutter blade
% High-speed steel double blade

BEICRU YT =AY RZHKRHT, Hy
Y= —REBAETTHEBAINDHEER.
EEZROXTTHERTEL,

If you have already purchased a dresser
head and wish to purchase the cutter
case separately, please contact our

R —~X—2X
Dresser base

sales office.
456 Features ) H
RUwH—AwR Dresser head I
2~ W ¢ 36
57+H/_L£ . = 1:4_@ I B = <$
External dimension H 80 !
(mm) A 012 g’

RLwH—~_—X Dresser base

D 50

SRR 50
External dimension 85
(mm) 140

2-¢p14

o> |I|=

0

EAF v v TFUTFAR Aoplicable capitipishapel} 4

AR RE PE FE

Type A, Type R, Type P, Type F

B4 SHAE SR
Hw&—3H Cutter blade P.39

Hw&H—4—RX Cutter case P.40




—
*'\7 “Jj ;‘yj xﬁ%ﬁ/ IE Cap tip change/Tool

FryvIFYIRBROFEZERITDCHDDRE TEIHETT,
FEN YA THSEHFYA TETC_—XICERMZERNDHZATHEDXT,

Equipment/Tools to reduce the time and effort required to replace cap tips.
We have a wide range of products to match your needs, from manual to automatic types.




SHINKOKIKI ()

PCFyJFIIvy— (ORvrS1VA)
PC tip changer (for robot line)

D

Patented

LA U IFILOF v TBMEHRICKD, o -
BANEE(CTE., Fv T - YvIDEEZ
Bilko

FTERBWROEBRICKID., FvITRDEREE
HVKIE A2 HE.

HUARRICEDE., ETEREICIEERIEDE
A H'AlEE.

Our original tip replacement system ensures

reliable replacement and prevents damage to
tips and shanks.

' “ Upper and lower replacement at the same time
SR (1HY) By (IEY) greatly reduces tip replacement time.

Horizontal (Type I ) Vertical (Type 1 ) The top and bottom can be replaced at the

PCA-21DUK-T 8 PCA-21DUK-I & same time or individually, depending on gun

specifications.

" strieiE

BEAY (BRED) e IF7AY, Y—ikAY
BEAY (B e CHY, XAV, EBENAERK
BRAXYYTFVT v 06E
CFYTIR R P13 X 20L, 916 X 23L-25L 1%k &
CFWTTR A, R E P FERIEEX
I 2007 FmFvT, BETFTVT
VIR A=k, =ZARILEY—, 7—LE
Compatible models
- Welding Gun (driven) .......cco........ Air gun, servo gun
- Welding Gun (Type)......ccccocvevvenn. C-gun, X-gun, stationary type welding machine
Applicable cap tip/shank, etc.
- Tip diameter/Over-all length ... 13 X 20L, 16 X 23L-25L, etc.
~Tip Shape. ..o, A, R, E, P Ftype etc. %

i New tips, polished tips

Straight, triangular holder, arm, etc.

J

¥ ZDMDF v TRARIFERRK
% Other tip shapes on request

BEM
Fixed claw

BIEY/T

Movable claw

O+ vy IFvIEY v IDEICTZAN, TODRETERDOALKT,
® nsert the pawl between the cap tip and the shank and remove it using the
principle of leverage.




YA Specifi:c:a!ti:e:n:,

Q—

P

\ ; ; D 563.5 564.5
SFZ~tiE  External dimension W 4715 2400
(mm)
H 867 1017
g &2 \Weight (kg) 52.5 59
B R Power source DC24V
ERRE EfEZER (0.4 ~ 0.7MPa)
Use Fluid Compressed air (0.4 to 0.7 MPa)
Mzm<A 1,000kgf (0.4Mpa [CBWNT)
Pawls opening force 1,000kgf (at 0.4Mpa)
9’-129’17— - mwﬁlj\ﬁﬁﬁiﬁ_ 4.0mm
d-vhk Minimum pawls opening gap
Changer unit MO R AR 9.6mm

Maximum pawls opening gap

JO—T1 Tt
Floating mechanism

BEERE (/&£ H 2mm)
Standard feature (2mm vertical/horizontal)

Number of tips stored

Ty REBEVY— IRAEEEH
Set failure sensor Standard feature
F v THEME R FFE161@E

16 each upper and lower

BREEEH, (LT /A 2mm. gl 8mm)

7Mj;Ja;rffa:unjn'\ Floja?in_j_r;](e/cﬁ:ﬁi*fm Standard feature
& € (@mm vertical/horizontal, 8mm front/rear)
FyIyntero— IRAEEE,
No tip sensor Standard feature
FyITREBERER T Y— RAERE,
Number of tips stored Standard feature
x A Stand 1Z#EHEE  Standard feature
F v T LOIUKEE RLEEE,

Tip collection box

Standard feature

8041/ EHE A Parts/Consumables)

16 EFYvIDIYHI Y
16 round tip magazine @13/ @16

P13 916

m (&), ExE)
Paw! (movable/fixed) 13016
T Assy ({81 T 013015

Pawl assy (upper side/lower side)

REF - iR - BEORICE. NMERCEEDFFOENTV DV UPILESZB RSB0,
For maintenance, inspection, and repair, please inform us of the serial number attached to the main unit.




SHINKOKIKI ()

—_ . \ /\ B
ﬂFv wIFwIHBTE Cap tip change tool 573772 7XR%E /I8 )

DY FFvvTFvIHUL
One-touch cap tip removal E

Pa‘\'te'nte'd
1R Features ]

FENOEBZERA. v v IF v ITEBEDEBEDKEVZHED
HUDES. —

Open/close mechanism with large contact surface with the bottom of the
cap tip for easy removal.

{148 Specification)

BAFvYIFVITAX . .
Applicable cap tip size @13 % e
PASIAAIp 2f& Overall length 260 260
External dimension —
(mm) %M@ Over-all width 50 50
g 2 Weight (g) 455 440

SE4E % manufactured after receiving an order

HbLDOM ST WK
Eagle claw = Patented

15 Features))

TADREEZRVF v v T7F v TOBRDHA ULES.
8 FrovIFvIT, Vv IIEMITEICKVERET

Easy cap tip removal using principle of leverage
8 . z Designed to prevent scratching cap tip and shank

{148 Specification)

BRAFvYIFVvITAX
Applicable cap tip size

HNENTE

External dimension £& Overall length 285 285

(mm)

g 2 Weight (8) 800 800

ZoE&EE ¥ manufactured after receiving an order

@13 % Q16 %




(F vy IFyTZRIR Cap th chanse tool &7 g ok 1 (5

FryvIFvITHL FrvTFvITHLW

Cap tip removal, Cap tip removal W

S|
HBE Featu: r:e:s'

FrvIFvT, Y VIICERHTEICL,

Designed to prevent scratching cap tip and shank

K Speciﬁ:c:a!ti:o:n:,

BAFvYIFVITAX 13, 916 (FER) x
Applicable cap tip size @9 | 013 @16 @19 @13, @16 (dual use)
HNEE 2K QOver-all length| 285 | 285 | 285 | 285 370
External dimension
(mm) 2@ Over-all width | 32 32 32 32 32
g & Weight (g) 462 | 448 | 436 | 484 568

% B4 E % Manufactured after receiving an order

tOfDS1UF T

BAFTvYIFvITAX
Applicable cap tip size 09 ®13 ®16 @19 %
£ =2 Weight (g) 144 132 118 168

¥ B4 E % Manufactured after receiving an order

= [0]=] P

Bird's eye
BE Feat:u:nres

Ve oEFvYTFYITORENESTD CmiEE) kEPITVLD
T—I\—TERZFRH. BETHELPTL,
Tapered shape for easy removal even when the gap between the shank

and cap tip is narrow (approx. 2 mm).
Light weight and easy to handle.

F =Rk 44§ specification
BRAFvYIFVITAX
Applicable cap tip size ®13 016
NENTE ££& Over-all length 300 300
External dimension
(mm) 218 Over-all width 32 32
E 8 Weight (g8) 400 400




SHINKOKIKI ()

EE'EIEIJ:%E Productivity enhancer

BERIOYVIOYVaVFY N MILNEEEER - BIILEIE TS
T4 —5—RBZRDICEEMSD LD DREES AV F v T,

Sorting, aligning and feeding welding projection nuts/ bolts, etc.
Mainly feeder equipment, product lineup for productivity improvement

e BHDFYRIr—F—-DHE

1. BRILADA. FEEEkT v bOHEGHAEE,

2. Oy rOUEEDLEHLE Z.

3. —@BEDOY REZHB, TDA. YUVI—XXSO—IZENRE S,
® Features of our nut feeders

1. The skewering method enables the supply of nonferrous nuts.

2. Easy alignment of supply rod.

3. Integrated structure rod is used. Therefore, it is easy to change

the cylinder stroke.

y

HEIEEERSv &
List of Main Applicable Nuts by Product

[N
Dragon O O O O O O
JI1-wIRX
Phoenix O O = X = X
A5 —
Star AN O X X X X

O @AY 2 8B X @AART  O: Applicable 2 :Special order X :Not applicable



5 S EMNODERE
/ I‘?j J Dragon Produ%tivity enh?r?éa E

R Featur:e:s,

ARTIRT =T (7= UVEF—) [CXD T v hZ 1 TFRelE 2 7 FDUDHUIF—ICTNY
RETEIGT Do

=

Patented

The mechanical escape (air cylinder) feeds one or two nuts at a time to the head by air.

{24 Specification
HNENE D 450
External
dimension i 550
(mm) H 1200
Hopper volume el e
R AC100V (50 / 60H2)
Power source
I7—E
Air pressure 0.4~1.0MPa
FYRIAX M4 ~ M12
Nut size
T hMEIR e, W, R, A, TE, 201t
Nut shape Square, With flange, Round, Hexagon, T-type, other
HHiaaE mE7Tw by 70 829, A7 b 30 @B 2
Supply capacity | About 70 square nuts/minute, about 30 round nuts/minute
IR Y o X SREWRZHRA
Control box Special circuit board is used
EAGIR—A 3m (F#)
Supply hose 3m (standard)

*FYRDRESICEDBENEDDET,
*Capacity varies depending on the size of the nut.

XERIE. VIEARBTY MR T,
% The image shows hexagon nut with flange specification.

KERDHERBOOEXDRICIE. REOIUTILESZEHSH
S5ELESL,

2341/ HFEcafth Parts/Consumable:s, When ordering consumables for equipment, please provide the

serial number of the main unit.

BhEEF7) \— FTwhIJ4—F—IR—)LA. TwI\—KHNDI=, EfFF v rDEAZRLE,
Dust cover Prevents dust and different types nuts from mixing into the nut feeder bow! and hopper.
BREEH/\—EUfTEE BhEEH ) \—FETEE,
Dust cover mounting bracket Mounting bracket for Dust cover

k54 70w R KM OY RICKD. 7y bOAGERGENTEETT . FE)
Special type rod Special shape rod enables directional regulation of the nut. (Special order)

JNRfSEMZE Spring-loaded hinges
~NJ=xw My Magnetic board
Ow R Rod
Ow Rtz U4 — Cylinder with rod
T >AER—X Urethane Square Hose
Ow ~/Cw=+> Rod packing

P.41




SHINKOKIKI ()

/7 IZ=YIR
1§ Features))

Phoenix

IN—=Y T4 —=F—DHOKD., TF—ICK>TF v MEEIET Do
YVINDIEWF Y bEIEDEESTEVNT Y M@

Nuts are fed by air from the outlet of the parts feeder.
Applicable to nuts without flange that do not overlap each other.

J

4 FEE E
Productivity enhancer
{248 Specification)
NETE D 400
=i T 350
dimension
(mm) H 1120
I —BE
Hopper volume sk
Power source AC100V (50 60Hz)
I7—E
Air pressure 0.4~ 0.5MPa
FYRIAZ M4 ~ M10
Nut size
PNV PUm, 7\Ax, ¥
Nut shape Square, Hexagon %, Round
G RES] mETw MY 60 .5, R7F v 30 @
Supply capacity | About 60 square nuts/minute, about 30 round nuts/minute
HfER Y R SHEWRZRA
Control box Special circuit board is used
EAGIR—R 2m (F%#)
Supply hose Feed hose 2m (standard)

XA, CTODEFXRULTF. FyvbhDEZ(ICKDHIFINGDDFT,
FEME. CHERLIESL,

¥ Hexagon and round nuts are subject to restrictions depending on the
weight of the nut.
Please contact us for details.

it S it Parts/ConsumabIes) KERDOHERDCIXDRICIE. AMOVUPIVESZESHSBELZEN.

When ordering consumables for equipment, please provide the serial number of the main unit.

BHEES) \—
Dust cover

FwhI4—F—R—ILA, v/ \—RmNDI=,
Prevents dust and different types nuts from mixing into the nut feeder bowl and hopper.

ERES vV hDEAZERLE.

BHEEH/\—EUfTEE
Dust cover mounting bracket

BhEE ) \—FHETEE,
Mounting bracket for dust cover

JNRfTEEZE Spring-loaded hinges

X% v MM Magnetic board

Ow R# Rod

Ow Rft2 U4 — Cylinder with rod

D L%AER—X Urethane Square Hose

Ow R/)Cw3F+> Rod packing

P.41




R Featu:r:e:s’

FEMO LS E

Productivity enhancer

=Y T =45 —DEOPNERAICHN O TWNTC, 7Y bOBDNSIF—ICKD, Fv hEEDET., WADHNTS v

(S@Eho

The outlet of the parts feeder is bent at a right angle and the nut is fed from behind the nut by air.

Applicable to square outer claw nuts.

- {14 Specifica:tiaon

g O v T B
- \ SN D 400 400
+ External
’ r dimension i 350 350
(mm) H 860 1120
T\ —BE
Hopper volume L
Power source AC100V (50 60Hz)
Ir7—xE
Air pressure 0.4 ~0.5MPa
FybhAX M4 ~ M8 (BrE :M10)
Nut size M4 - M8 (Special order: M10)
AN 2N T B0, A (RT)
Nut shape Square (outer claws), Square (inner claws) %
HAGRES] # 60 &, 7
Supply capacity Supply capacity about 60 pcs/min
HEIR Y O R SREWMZRA
Control box Adoption of a dedicated circuit board
EFEIR—R om (&%)
Supply hose Feed hose 2m (standard)

of the nut.

#UAE (W) IEDEFRLTUFE. Ty hOERKICKDHHNGDDFRT,
SHMllE. AR TIEEL,
¥ Square (inner claws), there are restrictions depending on the shape

Please contact us for details.

8542/ HHESAE Parts/Consumables)

of the main unit.

BHEES) \—
Dust cover

FERDBREDODSEXDRICEF, XDV UPILESZEZSHNSELEE,
When ordering consumables for equipment, please provide the serial number

v hIJ4—F—IR—IUA, Rw/—RHED
O=, BBFvhOEANEMLE,
Prevents dust and nuts of different types from
mixing into the nut feeder bowl and hopper.

BREE A/ \—EUfTEE BHEES ) \—HETEE,
Dust cover mounting bracket Dust cover mounting bracket

JURfTEIRE Spring-loaded hinges
~NJ%w M Magnetic board
Ow R Rod
Ov Rt >4 — Cylinder with rod
D% >VAEMR—X Urethane Square Hose
Ow RJUy=+> Rod packing

P.41




SHINKOKIKI )

v hEEHERE A TO—AY K Dy RYUYY—  trintes 4
Automatic nut feeder Yellow head / Red cylinder Productivity enhancer

R

Patented

BHE Featur:e:s’

v hZIENZBALE,
—FRBIEDNY REANY RROALIEAHY FUILITTO
A BN - MEFENE L,
mEBE (F7v3Y) VUV —FRIRY MIEDEB. 47— hRAvFDE
/" Mounting bracket (Option) ﬁﬁb\\\ﬁjﬁgo

Prevents nut spillage.

The integrated head structure and holes in the head
are gun-drilled for improved straightness and wear
resistance.

i SSSSRRMN ) A ) DRSSO SO ., |-, -, 57— The cylinder is magnetized, allowing the use of an auto
Yellow He_at.ih . Red Cylinder . switch.

BfEE A~DHATD 4 B8 (BEFATAT)
Mounting bracket | Four types, A ~ D types(Photo: A type)
F—hAAVF Oy RORBIRHEICKD. ZEUERN IR,
Auto switch Rod position detection ensures stable feeding.
BAEEIF. BTREICKDEROVCEITERTD,
FEUL(E. cEslrEEL,
Mounting bracket can be selected according to
installation conditions.
For more information, please contact us.

A TO—~\v RONER Inside of yellow head

RS - 8l FEIS . EE NR—RATHDYIRw MRIC, 7OV IV 3vIicabE MO
Conventional New product, TITEEULE U,
el S o TNITED. Ty FOBBEEBDREL. T v MHEEET v T
: : g & F Uz

The magnetic board, which is the base, is unevenly processed to
match the projection.

This stabilizes the standby posture of the nut and increases the nut
supply rate.

WIS v hRESEANY R Ly R >4 — Yellow head / Red cylinder

VUSSR Y ROAER

Inside of supply head for flanged nut

NABEYVNRICEDLEHFHEEOMMEMN L ZS v hRI(FHRICH
UCEICRD. v bOFEZRBZLTESTR U,
A semi-circular concave arc surface is machined on the nut receiving

plate to match the hexagonal part and the flange diameter to
stabilize the nut's standby posture.




®—

310w AT — £ R
f T—bovvy Auto shutter bty et L)

BE Featu: r:e:s’

H—T47> (P.23) EDEHICKD. KRIMNT@DENZRALE,

Interlocking with Guardian (P. 23) prevents contamination of
unprocessed products.

4 (4% Standard sp:e:c:ifi:c:a:ti:o:n:,

D 410
NRNTE W 408
; ; (mm)
External dimensions £& Total length 1130
H

FACIER Aperture 750
IR AN~ D 850
Storage space (mm) W 345
dimensions H 570
FE[mES S D 240
(BAIDEEHDFEVEEF mm) W 345
Aperture dimensions B EE 65°

( If units are not stated. mm) Opening angle 65 degree

ZAE(LERIE. TP331 - TP332 DIV T FHRwIAICHIHELTHEDET,
F—5—G
CHBOIVT IRy IADTA XICEDEDEE, TELIIHUTERET
BEVLCLETD,
Standard specifications are compatible with TP331 and TP332
container boxes
Made-to-order goods
We can design and manufacture to match your needs, such as
matching the size of your container box.



SHINKOKIKI ()

" w | ] :I:I:%
(FHLTRIVNT4—F—  Ftypeboltfeeder  pomim imos | o
BE Featur:e:s’

ARy NAEE BB UV —[C KD BEEME S BB CMIL MMEAG

BIDF v v I EHA REVICKDEMIFREA.

HA REVHREBEED SREHTLHEE (4 FEVHBICERUTWVWSIKREE) T, ML bDUBROHES
HA4 REVDTHDRITED, ML SOEEZRAL

Bolt insertion simultaneously with welding operation by spot welding upper cylinder.

Precise insertion with split chuck and guide pin.

Structure with guide pin protruding from lower electrode (guide pin is always raised) for easy bolt positioning
Detects the presence or absence of a bolt by the guide pin's down angle.

ML Mg~y & (O hA)
Bolt supply head (for robots)

(el Specificatiaon

NESE | D 580 580
Bl 430 430
dimension
(mm) H 1200 1200
I —BE
Hopper volume leL ==
Nl 100V 100V
Power source
I7—E
Alf pressure 0.4 ~ 0.5MPa 0.4~ 0.5MPa
TLATAZ M4 ~M10 M4 ~M10
Bolt size

NVIASIZN V) (FFOYzoysy) | WG (FJOYIov3Y)
Bolt Shape | Flange round (Projection below) | Flange round (Projection below)

HAGRES] 15 @& 72 W15 @E 2
Supply capacity About 15 pcs/min Aabout 15 pcs/min
HIERY o N B
Control box
BETR—R 3m (=) B
Supply hose 3m (standard)

X MILEDYVIBREETORTICKDFHNINDDFET, FilllF. THRIEEL.
¥ Restrictions apply depending on the flange diameter of the bolt and
the length under the neck. Please consult us for details.

4 # (ET I T - S = N A S o
el 3 o m FERDBEFERDCEXDREICIFE. XMEOVUFIESZESHSBLIEE0,
°BM/’§$¥""{E Parts/Consumables \When ordering consumables for equipment, please provide the serial number of the main unit.

T hIJ4—F—IR—ILA, mv/\—RWNDI=, EFEMN/LSDEAZRLE,
Prevents dust and nuts of different types from mixing into the nut feeder bowl and hopper.

BREE A\ —EUtEHE BhEES ) \—HEfTEE,
Dust cover mounting bracket Mounting bracket for Dust cover

BREEAJ\—  Dust cover

D4 H#K—R Urethane round hose P.41




A4 REVERSIEREZ NU—MRILY— O B LB LR [
Straight holder with guide pin lift control  Pin-no-suke Productivity enhancer

KA RN

Utility me gistered

Chi2Bh 2

Pin-no-suke 2

HA RE> DR &7z,

D—UHHR. EUZRETNSE. 4 REVDOBEZERALE.
ChBh 2 A4 FEVORDEZ N, 7"AL>YF (2mm) THEE.
OhZB 3 BRIEICKD. A4 REVDOBRDBEINDT V5 v,
Contrals the lifting and lowering of guide pins.

When replacing a workpiece, the pin is lowered to prevent damage to
the guide pin.

Pin-no-suke 2: Guide pin can be replaced with a 2 mm hex wrench.

Pin-no-suke 3: Guide pin replacement is a one-touch operation with a
dedicated tool.

{24 Specification

. ) 2K :465mm Y UVI—&F: 925 930
AT X Body size Overall length: 465 mm Cylinder diameter: 25 mm dia.

Chi2Bh 3

Pin-no-suke3

BB Power source AC100V (50 / 60Hz)
725B0 / 730B0O
TEREEAE 825B0 / 830B0 (J\A h¥{J) (with viton )
Lower electrode EBftD vy vEMR UFO

Stepped washer electrode UFO
IT7—0#EO (06 TVF Y FEMTF) D

2 )\wHTO— E& (ON-OFF flfllF=Ha=EA)
Spatter blow Air supply port ( ¢ 6 one-touch pipe fitting) only

Mounting (ON-OFF control is not included
T 7—[E Airpressure 0.3~ 0.5MPa
¥EVEBMEDOBEZ/\A N (TvRIL) THREL. BRIMINEEEHEZS
HFET, A hIFE. KET 2R HDEFEECTI,)

% The space between the pin and the electrode is protected by viton (fluoru
rubber) for shock absorption and sealing.

FS-GP2 FS-GP3 (Viton is a registered trademark of E.I. du Pont de Nemours and Company.)
= [OF = =
‘*ﬁﬁi’éﬂ;un ENE Operati@n’ S passage © A REVHET FERARY METCSERDE
e Components ofelectiegurent @ Gudepn descendng 5, i) Box DHIS >/ Y —
o o— A
8591\,?5&;2?3;“: " @ Workpiece discharged ETAN—REBEICRD HA RE
H{FELRIAT *% %¥ = T &. y%%\&%aﬂijo (mﬁ‘t\/
Ll i I {g% U—DBEZRMTHENA R
_ R i S BETE —c%
k= T = M= [T = | EYelRTet JAx &
Kl 51 <1 ESNRHEIRETDE LR
e o S S S L#ET)
i @ AN ® ORY hSA Y TTERDS
J OFF ® HAREVHEHD  ® The guide pin goes up. El&. SHEERIEE0L,
il
When used with manual spotting machines, the guide pin is raised and lowered
FE)HHE Box by the magnetic sensor in the control box and the timer function. (The magnetic

(Kt I—11F)
Manual Control Box
(with magnetic sensor)

sensor lowers the guide pin when it detects that power is applied, and raises it
when the time set in the timer elapses.)
m For use in robot lines, please consult with us.

{24 Specification 2B+ /SHFES{th Parts/Consumables
=g Bk 31 (0.1 BAH) o~ : (IRRE S Funet
e i Up to 3 seconds (0.1 second KmIvTwh Water-cooled jacket | EMEID/SH] Cooling around electrodes
Ascending timer increments)
BERAS —_ .
. . Wt t— ~ ORbA FS-GP2 P42
Energue?hsgnsmg Magnetic sensor (ORy MEYA=FAEY) A ‘
metho Robosai FS-GP3 A p.42
(Saiminus pin for robot) :
LA U IS )VER P40
B & Our original electrode ’
Electrode BT v v &R UFO
Stepped washer electrode UFO P.43, P44




SHINKOKIKI ()

NEJESEE J)LFARVb1Zvh

N type switchable electrode Multi-spot unit

Standard type

Standard size

KETEER  CREODARICOETIULTRIEGE,

¥ Manufactured after receiving order: Negotiation is

required for desired specifications.

290 E. 180 EO$xERY 17
ANU—RNRILS—EHATEE
2 types 90° and 180° rotating electrode type
Straight holder can be mounted

(1)

2> UI\—BE<
Crank lever open

252 0UI\—EUD
Crank lever close

EEMEO LS @

Productivity enhancer

BE Featunres

. EEREBETHEBDITRABNZE DS T OERS
CEICKDERDEBA D HRFT T,

A FBREOBBARD[TFEE - AE—F ¢ —(IX .

NV T ARZEES. EVZEIRULEFDIEIS TRIRATEE,

R OREERONMERCE. BRIANMER.

KB IKER Wm@h@ﬂ—]@ﬁﬂbgzb‘TEo

ABOEBOEFEEDR 1A

. The striking points of the upper and lower electrodes
remain the same and can be rotated to change setups.

2. Built-in water cooling diverter eliminates the need for
hose replacement

3. Replace by simply loosening one bolt and pushing up
the pin.

4. Qur standard electrodes can be used, reducing
operating costs.

5. Built-in water cooling diverter eliminates the need to
replace hoses.

6. One unit with four different electrode combinations.

{14k Specificati:o:n’

SNETEA =& (B17) 265 (RETAX)
External dimension | Over-all length 265 (Standard size)
(mm) £ Diameter »115

EUfT# Number of attachments 4

1000kg
KA Water cooling

RANIE Max. pressure
7#EN75% Cooling method

1. UI\=CKDISV T,
BTN alRE

2. KmDKGEDWB SN TWVDIEHR—AFITBEARE

3. ANV —MRILY—1EERIREDeh PC v N/ RIL
TAY—EDOHEEGEDAEE OKFREEEER)

1. Manual rotation is possible by clamping and
unclamping with a lever.

2. Built-in water cooling diverter eliminates the need for
hose replacement

3. Straight holder can be mounted, so it can be combined
with PC nut/bolt tester (except for horizontally
rotating electrode)

{14 Specifica:tinon

2 1B [OlEn BB ER~T A A
BS ih—EID{F1F88 ¢ 60mm
BS ih—rEiES  130mm
DKHBES 75mm
I5VOUI\—8 »80mm EdH 3bmm
EIEREREA 8Omm X 90mm Ed 50mm
¥ ZEEER . CHEODARKICOETFRULTCRFEITAE,
Example dimensions of each part of type 2 rotating electrode
BS Horn mounting area ¢ 60mm
BS Horn length  130mm
Water divider length  75mm
Crank lever section @ 80mm, thickness 35mm
Rotating electrode angle 80mm X 90mm Thickness 50mm

¥ Manufactured after receiving order: Please contact us to
discuss your desired specifications.

PO SYTITTCFEILOES



/ﬂ,ﬁﬁww— H—F47>

Welding shots number management counter Guardian

R Features))

1. XD 3 @ONSEHAIFEZEIRCER T, 1. You can choose from the following three measurement
). methods
() @[ T—+BUINE (1) Magnetic sensor + gun pressure
@) OKES +HmE (2) OK signal + gun pressurization
m (3) Magnetic sensor or LS only
(6) > Y—FclE LS D 2. In addition to the number of product welding shots,
D BISITA AEX. B BITSICmE. Fuv Sroducltion, boer[as, gndttot?! welding sthots,trée fnurpber oé
w — ip replacements, destructive inspections, defects, an
TTEY, BEREY, FABH ABEDOXRRH b rep : P

defect rate can be displayed.

AJ8E.

B :0000
gﬂtﬁ 00

%?5{

//7)b7]'j/9— FINHhDY5— I\Uj)bjj'jyg—

Single counter Double counter Triple counter
3. AL/ RIVICK DR D E, 3. Improved visibility through the use of a letter-illuminated
- = S 2 AD S panel.
4. SEXE BORFINEHFRF) 4. Buzzer (volume change, multiple sound types already
5. BIEAET ) (U NERE o oeistered) .
o . N s . High-performance compact design
6. v hREtRbEEEEH AJEE 6. Interlocking with nut missing part detection device is possible
7 A=K vy —EEEEEHTIRE 7. Can operate in conjunction with the auto shutter
8. tH—EEDESH 8. Monitoring of sensor abnormality
ALERT!!
LIUEE!
9. BjF AC85 ~ 264V X! | 9. Power supply 85 to 264V AC! !
- N . R _ 10. Memorizes setpoints and counter values even in the
]O ’?‘%Eﬁ(k—& L\Z%DQKETE. 7j'j/§_1E€Ea’|%i event Of power fa”ure
11. #7330, ®E, hEZEXERDIEL 11. English and Chinese display are available as an option.

Above performance is shown when fully equipped.

LECMREE. DILERBDHEEZERRLUTCHDFT,



SHINKOKIKI

{T4% Speciﬁcati:o:n:’

EEMEO LS E

Productivity enhancer

HNEE D 180
_Exterr_wal W 510
dimensions
(mm) H 95
2 £ Weight (kg) 2.1
=R AC85 ~ 264V 50 / 60Hz

Power source

FRE1—X3A (A4 X6.4 X 30mm) Fuse used 3A (Size 6.4 X 30mm)
|/ O B8BE+HS : DC24V £ 10% 0.3A  Power supply output for I/0: 24VDC £ 10% 0.3A

RINED
Display part

HIEAEIR

140 X 32 Ry hDEHXFRTRE, 140 X 32 dot fluorescent display tube.
EF 2 1R FANTF 2 7~ 4 1RnDaEE.
Two lines of Kanji characters can be displayed, and two to
four lines of half-width characters can be displayed.

Power source for control

imFH 1:DC24V  Terminal block 1: DC24V
imFa 2 AC85 ~ 264V Terminal block 2: 85 to 264V AC

Z DAt
Others

BEREI—K (R 2m) Power cord (Length 2m)
10P imF& WX4B -10C1-H1  10P terminal block WX4B -10C1- H1
Eff£E  Mounting bracket

¥ I): A—T—)\OA=F =7 A, YATLI\SGA—5— 18 FEAEDEEEZE N AIAE,
¥ Full . 7 user parameters and 18 system parameters can be changed.

I IREEBhY 25—

Welding shots nhumber management counter

EEMEGO LRE E

Productivity enhancer

TR, hDVI—KeEDs 2 (BRI,

Easy to install, counter function can be easily added.

{L4% Specification

FEHR Speiiaion)
B~ S e S

NETE D 140
d%gg i?)ln Ll &9
(mm) H 100
58 Weight (kg) 700
Powfﬁurce AC100V ~ 120V
BRI 6 #7 (0 ~999999)
Effective display digits 6 digits (O to 999999)
ANEKE WKU—RAAvF (1.56mI—K)
Input device Magnetic reed switch (1.5m cord)
Z—hUtwvhk DOV E7yT%. 91 BRICEKRZOICLFET,
Auto reset The display is set to O about 1 second after counting up.
JH— NOVRPYT%R 91 BEIT—ZB5ULED,
Buzzer sounds for about 1 second after counting up.
EBRFREE BENMINTH. hDVI—EZRFLEI,
Power hold function retains

The counter value even if the power supply is turned off.

OBANBITHIGICOEHRLTE. SHELSEETW
¥ Please contact us for overseas correspondence.



@—

IR IT—EEE /\Uo— LRI LEE |
Air blowing device with timer function Hurricane Productivity enhancer

R Featu:nres

I7—DHT, AU=THANDI=DEAZHLIE. (REFAIVIT
R EFE AT EE)

BERDFURIL Lo

HAYVMED ON / OFF E5I(CKD. FRDOREI7—=ZIEH,
I7—Y1vbh FMC-AJO2 OOV T~FA T,

Air power prevents dust from entering the sleeve hole. (Air volume can
be adjusted with the air volume control cock.)

Blowing off spatter during energization.

Air is blown out for an arbitrary period of time according to the ON/OFF
signal of gun pressure.

Compact type of Air Jet FMC-AJO2.

{T4% Specification
NETE D 150
I_Extern_al W 80
dimension
(mm) H 150
E5 Weight (kg) 1.4

Power source ACTOOV ~ 120V

BEEOAVIEDS VT « U—ZRELE T,

LB A~<— 0.00 ~0.50 # (0.05 #Z|#)
Upper timer Sets the on-delay for gun pressurization of the welder.

0.00 to 0.50 sec (in 0.05 sec increments)
BEWOAVMEDA 7T 4 U—ZRELE T,

TERY A~ — 0.00~ 1.00# (0.05 #¥Zld)
Lower timer Sets the off-delay for gun pressurization of the welder.
0.00 to 1.00 sec (in 0.05 sec increments)
T7—)0L7 RERED I T E
Air valve With air volume control cock
- O w N

IT7—ITw b AVEtis RN R E
Air jet Gun pressure specification Productivity enhancer

HAVHIIED ON / OFF E85LDERDREBI 7/ —ZEH,
BEHRDFURF U

TANNY 2 TCIT7—JO—DMERH 8L,

Air is blown out for an arbitrary period of time according to the ON/
OFF signal of gun pressure.

Blowing off spatter during energization.
Air blow can be checked with the test button.

% Speciﬁca!ti:o:n’
- EFIL Model  FMC-AJO2

SN D 210

S W 200
dimension

(mm) H 125




SHINKOKIKI ()

I7—I1vb #isevy—itix R L [
Air jet Magnetic sensor specifications Productivity enhancer

R Featu:nres

MKtz —0 ONESICKD. FEDRBELI I/ —ZEH,
FAMRY T 7—2JO—DMEERN TR,
Air is blown for an arbitrary amount of time according to the ON

signal of the magnetic sensor.
Air blow can be checked with the test button.

{14k Specific:a!ti:o:n,

AT D 210
External
dimension 200

(mm) H 125




T —
I:II:IE:I:IJE Quality judgement equipment

BERER. E#mOREZRI TS ETCEELRIZHEO>TNET,
,e}guuéa)’éﬁ(a*,ekiaiﬂh.J:DEE/\?UE%ED‘ZBDi?o B1TREH
ERICAERBEDERZUPIKULCUVWELEHICHELTREZR
EUCLFT,

Welding quality plays an important role in assuring product quality.
Control of weld quality presents various challenges depending on
the welding environment. We offer a variety of equipment to make
it easier for our customers to control weld quality.




SHINKOKIKI
BRIy N7y I A RRHERIENR  RLH] Pr——

Setup failure detection item relative table by equipment / Detection example Quality judgement equipment
BRENZRESEEEY NPy TFRREH G

Examples of standard detection methods and setup defect detection

RHTTE ® O fl
Detection method Example of detection

HAREVOEEMBHOSDENDTADICIDARRBZRE !
Defects are detected by the rise and fall of the guide pin from the reference position! !

E
Increasing the pressure

EER| | “F1]
HAREY HAREYD ArEVD i ; ",.l—” - L
remiE EEE GEHBET B LR

Upper electrode Position of the Guide pin position Guide pins are
glceby LEx I F o A TBL Ty hEEE 05150
I's - Normal Wrong nut size Nut facing backward No nut
Fvh
7=
TERER

2

A5k

Nut -

Workpiece NIE I%I . N
ormal < =...

Lower GlEEiess Abnormal Abnormal

Nut facing backward No nut

-0, BAVEBLETBIDIC, LHFUTTIVOBAVBIENA REVERRBUET. 1, —oEh 2R (VIL) -

To prevent workpiece misalignment and off-center, our original off-center prevention guide No nut Workp\ece overlap Protrusion irregular shape  Nut 2-stage stackmg

pin is recommended. (tsubure)
KREFRHIRBEERR

Relative table of detection items by device

NATYE /Oy hepy) BEE
Hexagon nut (Piloted) Facing backward
NAEFTYE /Oy hEL) BEaE
Hexagon nut (No pilot) Facing backward
WAy EEE
Square nut facing backwards
> A RN
Different nut size
Pl 2N
No nut
J—2150L
Without workpiece
J—J8R
Workpiece overlap

FTyvh2KER 0O
Nut 2-stage stacking
RILNTOYVT IS 3 VEREN o
Different bolt projection shape
L A ZEW o
Different bolt size
MU ERETEL
Bolt length difference
L REL
No bolts
D—I1L
No workpiece
D—U8R
Workpiece overlap
Dy vyREE (TJOVIOYIav) O
Washer facing backwards (With projection)
DwvidL
No washer
JD—I715L
No workpiece
J—U8R
Workpiece overlap
Dy 2 WER
Nut 2-stage stacking
Dy vJOVIIIIVER
Abnormal washer projection
HoS—H@E (FOI I3 0O
Collar facing backwards (With projection)
NS—1EL
No color
J—2015L
No workpiece
D—U8&8R
Workpiece overlap
HN>5—2 KRER e
Colors 2 layers
COMDBHIBRICDWVCIE, YHEEROICTHEMNIESL), For other detection items, please contact our sales office.
¥ W BAIETF YT, BRI\ —DERTHEEHDIgEE LD ET ¥ 1: Detection is possible with the use of an anti-reversal tip and electrode cover.

¥ 2 Mr.X002 FBUL — Box D{ERTHREESIEDE T % 2: Possible by using the relay box for Mr.X002

X
(@)

%2

O|O0O|O|O|O|O
O|O|O|O|O|O

O|O0|O|O|O

(@)

O|O0|O|O

(@)

O|O0|O|O|O

O|O|O




%

JOY1ovavFyh/RIbey NPy IREREEE PC TA45—

Projection nut/bolt setup defect detection equipment PC tester

BE FeaturDes

HAREVDOTHDAZREU NG (RELELSN) DHE. BEEISERERZIY b,
NG BICFEEREOERZRRL. T RRDOKEDIRE.
HAREVRBCEFT7—og AN ZRA. BEHEODMENVREUICEFZRIE,
RREanhEN D5y F TR,

If the guide pin dropout is detected and is NG (outside the setting range), the welding current is cut off instantly.

When NG is detected, the difference from the normal condition is displayed, and the cause of the error can be identified.
Air movement system is used for guide pin lifting and lowering. Stable operation with little deterioration over time.
One-touch origin alignment.

{14k Specificati:o:n’

HAREVRBEAR T7—a g
Guide pin lifting and lowering method: Air movable type

HNENTE £ Dia. 025/ ¢32

External dimension D 51
(mm)
st w 80

¥ Approximate size H 370

£ L43h%; Seticonfiguration

FH= FHIBHARYNE / BE= 0ORy o1V
Fif= JybRAvFor—JIUF / Sfi= €Ay FF
Manual = For manual spot ./ Automatic = For robot line

With F = with foot switch cable  With S = with sensor switch

|
PCC-14M (F 1)
. Mool | PCC-1BNMX30 (925) (With F)
EE] PCC-14A (S )
automatic | PCC-1BNAX30 (925) (with 9)
S | PCC-1BNMX30 (932) PEC 4'\/'(&&))
30 | 932
A= <
® Components
P 525 PCC-16NAX30 (¢25) 3
- Combination| PCC-14A (S 1)
or dual With S
p32 | use | PCCIBNAX30(932) % (With 8)
Combination
PCC-14M (F 1)
. Manusl | PCC-16BMX30 (¢25) (With F)
EE] PCC-14A (S )
0 Automatic PCC-16BAX30 (¢25) (With S)
F&) PCC-14M (F )
. - Mol | PCC-16BMX30 (932) With B
For bolt =E) PCC-14A (S 1)
automati | PCC-1BBAX30 (932) (With 9)
25 PCC-16BMX50 (425
y | =8 (025 occam F )
JvhO—5— 50 Manual (With F)
. »32 PCC-16BMX50 (¢ 32)

% 4 E % Manufactured after receiving an order



SHINKOKIKI ()

e+ Compo:n:ent’s

KsTvw ik Water-cooled jacket

mEHERE @

Quality judgement equipment

/5#1 Cooling around electrodes

34> ~RkJLS— Joint holder

KaIvirw OO AHIFICER Used for water-cooled jacket installation

XAHREM E. BHEDBATEDED,

(5 Specific:a!ti:o:n,

SNETE D 155

Exterqal W 80
dimension

(mm) H 210

Power source

AC100V (£10%) ~ 200V (£10%) (50 60Hz)

i1/ MR Parts/Consumables)

LFal—5—
Regulator

IT7—ERAE
Air pressure adjustment

JvhO—>—R#EN/—
Controller protection cover

BETEETLIHD (RTSvya,
AN F) hSRIEEZRELFT,
Protects the operating surface from scattering
(splash, spatter) generated by welding.

RT3 A—E—
Potentiometer

A REVDESTHE
Guide pin position measurement

KCF A4 RE>

HAREY KCF guide pin P45, PaB
Guide pin Ot 4% (ORY MNETA=ZFAEY) P47
Robosai* (Ceramic pins for robots) ’
AU I )UERE
Tgﬁﬁﬁrw Our original electrode P4’
UFO BB
|
electrode nut UFO electrode P.48, P.49
TEREEARNIL N
For lower UFO 243 P50~ P52

electrode bolt

UFOQ electrode

*OMYA : BENEFREDH
MARST - RUR - BEOERICIE. AMERD TR BESZHHSELEE0,
¥ Robosai: Automatic/Dual-use machines only

¥ For maintenance, inspection, and repair, please inform us of the TR number on
the back of the main unit.

% Several cooling components are available.



@—

JOYTHYavFyMey Ny IREREEE Ty NPCTFAY—TF REEYERE @

Projection nut setup defect detection equipment Nut PC Tester Petijte Quality judgement equipment

BE Featu:nres

HAREVOTIHORZRELU NG DHE. BECERERZNY b
NG F(C[FEBREDERZRRL. TS REDFEDILE.
FBEAXZERIELCATUV I g ARIE. HRICZ M.
RRGOENDYF Y F TR,

The guide pin dropout is detected, and if NG is detected, the welding current is instantly cut off.

When NG is detected, the difference from the normal condition is displayed, and the cause of the error can be identified.
The spring-loaded movable system, which simplifies the lifting and lowering system, is comparatively inexpensive.
One-touch origin alignment.

{L4% Specification

HAREVEBERR  ATUVTaER
Guide pin lifting and lowering method: spring-loaded movable type

i # Dia. 025 ./ $32
External dimension
(mm) W 60
H 855
(@)
&)
v L48hk; Set configuration

»25 F& Manual | PCC-14NMX20 (¢25)
PCC-14M
¢ 32 F& Manual | PCC-14NMX20 (¢ 32)

8541/ HHES Mt Parts/Consumables)

. RT3z A—5— HAREVDAMIESHA
Potentiometer Guide pin position measurement

HARE> KCF A4 RE>

Guide pin KCF guide pin P45, P46

— HrrA U I )UEE
F?iﬁgﬁfg; tl:cﬁe Our original electrode i

O {ERELEE e Components nut UFO &1l P48, P49

UFO electrode

MRS - IR - BEOERICIE. AMFEED TRESZHASELLEEN
% For maintenance, inspection, and repair, please inform us of the TR number on the
back of the main unit.

B+ Compon:ents,

KmIvirwh Water-cooled jacket BiEEI D5 A Cooling around electrodes
a4 kLS — Joint holder | KsY w4y ~OEOAIFICER Used for water-cooled jacket installation
KRB, EHEORHATHEDEI, ¥ Several cooling components are available.

N D 155
External
w2 E—— — dimension e 80
Controller gm) - H 210
P
SR S AC100V (£10%) ~ 200V (£10%) (50 . 60Hz)




SHINKOKIKI ()
Ly b7y ITARYER Mrxoos I

Setup fault detector mr.x003 Quality judgement equipment
FEREBOBEER ZERIE - BERL. RILE, FYROBIBVERAT DERE,

Equipment that measures and monitors the travel distance of the upper electrode and detects differences

in bolt and nut height.
HE Featur:e:s'

BEEOANY NCERICEE,
IREFERPOBENZDFRFFEHATEE.

G =Vay olenIZSAIE S Q=)=

L ERE RO ] EhEnH 7 B 1R
AEBELO04mm OEBEIY MO—5—,
MRENEFE 40mms,

Easily mounted to the welder head.

Electrodes currently in use can be used without modification.
One-touch origin alignment.

Monitors the range of motion of the upper electrode.

High-precision controller with a measurement accuracy of £ 0.4mm.
Operating range 40 mm.

{Ti% Specifica:ti:o:n’

St D 46 (279)
External dimension W 69.5 (153)
(mm) H 412

() Al BffEEAHFDTE
Dimensions in parentheses () include mounting bracket.

8541/ FESAE Parts/Consumables)

HERDBEFERDCEXDEICIE. XDV UPIVESZESHSBLEE0)
When ordering consumables for equipment, please provide the serial number r—
of the main unit.

BS AT v+— .
55 atioky BS M—/DIchBEWEL. BERE UP
= BS horn deflection improved and weld
BS R—2IEsH strength increased.
BS horn stopper

MT/Y A= — _FEREEBDAIESTA
Potentiometer Pasition measurement of upper electrode
®ACy R HEFAEEM
‘*ﬁﬁigﬁﬁl ® Components Detection pad Insulation cushioning material
4% Specification
SRTIE D 120
External dimension W 75
(mm) H 162
ER AC100 ~ 240V iR
Power source 100 V AC to 240 V AC*!
dvhO—5— FUBHEIFIIGICDEELTE,. SHERLESL

Controller *1 Please consult with us for overseas correspondence.



33—

v Ny T ARRHIERKE Mrxoo2 o SEERE ]
Setup fault detector Mrxo02 Quality judgement equipment
PC FRAY—DZE&A1=—v EUTTHIATEL,
iRy P R e Y ot e m s e
( E\%ﬁ@ PC TXQ [Lﬁyo'f—.ﬂjéiﬁlﬂ (L(S:\ PC 719 @DXEE%D M\gtgogfjo ) Utility moa‘é{ TEgiStered
Use as a two-stage detection unit for PC testers. =
(When installing on an existing PC tester, the PC tester settings will need to be changed.)

HE FeaturIe:s'

UL —BoxZERATDTEICEKD. RERDFwvR2
EREREAICNA. [Fv EL] BRAIEEE,
BHEEHEE3mm,

By using a relay box, "no nut" can be detected
in addition to the conventional two-stage nut
detection.

Detection range £=3mm.

{14 Specific:atiaon

External dimension W 42 (100)
i) H 366

() AR BfTEEAHFDTE
Dimensions in parentheses () include mounting bracket.

e e Specific:ati:o:n’

A4 /3> e Option

NS D 250 140
External dimension | W 180 100
(mm) H 130 65

JU—2& o
= X
UL — Box (L) UL — Box (S) Buzzer warning
Relay Box (L) Relay Box (S) Lamzﬁ;f;g e o x
FS-15EX2-BL ) FS-15EX2-BS Ry MEDBEEL 5 .
$3§‘CC7‘FU}5H(C7&F§>%§‘$\ J:EE@M?TID‘@ZI’ji 3 ‘/(DEYDTT_TU' Stop energiz]ng the SDOt machine
B 0T ] ) Rty MEBHERLE o o
E%%[:&DZ(&K C*Uﬁﬁt:&Hb\i’%é‘b‘&)Dia’o §¥tsﬁﬁﬂ<—:’:\ C*Egﬁ Spot machine Operation stopped
YA
e _ 2Ry MED B EEHSIC Ko T &, BN Box DED 13 i
For stand-alone use, one of the above options must be REVEANBHET., BHIICSER T,
installed. ) )
Not available for some welding machines. Please contact us Depe.ndm.g on the controlimecha.mlsm of the. .SDOt
il machine, it may not be possible to install an additional

box.
Please consult with us in advance.



SHINKOKIKI ()

mEHERE

ﬁ w2+ —I+vw Pressure judge Quality judgement equipment

FEAtYH—1=whk 13 Features)) ﬁ%%

Patented

(&1E) )
Pressure sensor unit JOwyy (TJOYVIOY 3,
b hS5— (FOYzovav), A@EFvh UL

40w b)) DREDBHHEIEE,
B, ML hDOYAZGEW, W)L hDTOY T
EhHEH— 2322 ULOBRHICH .

R Capable of detecting the front and back of

washers (with projection), collars (with projection),
and hex nuts (with pilot).
In addition, it can detect different bolt sizes and
different bolt projections.

{148 Specification)

ST D 180
External dimension W 80
(mm) H 220

e dVNO—S—&EFENEYY—OZvbNE. BYNRFEE
HOFRT. (BY MBI EREMRFIZFNTHDEEA.)

s KEBDEERDCEXDRICIF. KEDY U7V ESZE
HBHRSELIEEW,

e The controller and pressure sensor unit are sold

\ as a set. (The set does not include the dedicated
1 electrodes.)
‘ ~NJ » When ordering consumables for equipment, please
(IEE) (A=) provide the serial number of the unit.
(Front) (Side)

[TLwyv—IvwvI|
EEfRET!

[ Pressure Judge |
Video now available!

{148 Specification)

o IEREBS, @ Components

HNETE D 250
External dimension W 180
(mm) H 130
JvbhO—5— BIR
Controller Power source ACTO0V
/ BHEE \
Detection method
BENO T/ —ZERSEDEEICUCI 7 —DENZSHAIUCREDHEZITLE I,
Air is blown out from the electrode and the air pressure is measured to determine if it is good or bad.
® O Bl
Example of detection
_ NETvE Oy kph) . .
HZ—EAE HEE QRS =9 SRR DEN;- 1
Color inside out Hexagon r_1ut (with pilot) Different bolt size Difference projection
Inside out

N7 Y,




%@1& Other




SHINKOKIKI )

ﬁs == Dlj:‘ & BS horn receiver Swallow %ﬁ@";
BHE Featu::r:e:s’
/4 BS m—HfehOEZ[HIEUE T,

fcoFHDEEHETT—IICMEMETICHMD., FUZRSULE T,
BREBHZROITEVEREES,

BT SREE D R 8

Prevents BS horn deflection.

Reduced deflection ensures proper pressure is applied to the workpiece and reduces
spatter.

Simplified structure that takes up little space for installation.
Easy installation and adjustment.

{24 Specification
££& Over-all length 740 ~ 860mm
& B B & Diameter ¢ 30
Main body part
& =& Weight 2.0kg
| T I ANEB AEEF Adjustment range 120mm
Adjustable section fitiefE2 Capacity 16.6kN

iy
B 7Y vANER BS ih—V&(FEB
Mounting example Adjustment section BS Horn receptor
SHIKKEBEREE JA—5—I—b Z Dt
Cooling water volume monitoring equipment \Nater gate Other

BHE Featu! r:e:s’

JO—RAYFICROBAKDREZERL. REBUTDHZE.
BAEEOEFZELESEET,

A flow switch monitors the flow rate of the cooling water and stops the
welder operation if the flow rate is below a set value.

{24 Specification
o #lfHl Box e Control box

P Box . m=®  Fwes
Control box

Nt D 140
External dimension | W 100
(mm) H 65

E8JR Power source AC100V (50/60Hz)

®7Z{X e Main body

SNRTsE D 200
External dimension | W 85
(mim) H 116
R—AZw I R—AMWE 9mm H
Hose nipple Hose inner diameter 9mm

o AEIRFHE Box (FS-WG-S) &A% (FS-WG1) Dy MRFTEEEDE T,
* This product is sold as a set consisting of a control box (FS-WG-S) and
main unit (FS-WGT).



e ——

(R5F iEFESPam
A 4 = | I:II:I Maintenance / Consumables




SHINKOKIKI ()
FyITUPLIVEER 75T HFEEm {RF, eSS

Maintenance / Consumable parts for tip recycling equipment ~ Maintenance / Consumables
HvSY—RH FvvFFwvITH For Cutter blade/Cap tip

AL p13
Atype 613 TK40R X pB6 X R8 X 13

Al 916

A type ¢16
PRI 913 ./ 016 _ -
Cappy Ptype 13/ 016
FEI 913 /916
Ftype 13 /16
ARl 913 " ¢16
Atype 13 /916
. EZ 913 916 _ -
PCFvIRLyH— E type 13 /916
_ PHEI 913,/ 016 - -
PC tip dresser Ptype 013 /16
FEl 913 /916
Ftype 913 /916

Frub— TKA40R X p6 X RB X 16 -

B X BA #BHE carbide -




@—

FvIUYATIVRER (R5F, HEERm

Maintenance / Consumable parts for tip recycling equipment

Hv&5—XH F+wvwFFwTH For Cutter blade/Cap tip

A Atypel @13 /916 8R ¢6 40R — AB X 40R-8R —
TRM R—)LEX R vt — EEEtype| @13 /@16 - ¢6 40R 45° EB X 40R-45° —
TRM drilling machine  |P#Ptype, 913 /016 — ¢6 40R B60° P6 X 40R-60° -
dresser »13 — = — = 13X F —
1)

FEFWE 6 = = = = 16 x F -
CBM-117 R—)UBEHES (AR Atype| @13/ 016 8R ¢6 40R - AB X 40R-8R -
FYIRLUYT—  pmpyeel ¢13/916 | - »6 40R | 60° P6 X 40R-60° -

CRM-117 Drilling machine 013 13 X F

mounting type FRF type

Tip dresser 016 — — — — 16 X F -

05 40R - 40R X p5 X BBR X 913 -
013 6.5R — - 95 XBBR X @13 -
’ 06 40R - 40R X o6 X BBR X 913 -
— - 96 XB65HR X @13 -
A 05 40R — 40R X pb X8R X @16 -
A type - - 5 X8R X opl6 —
40R - 40R X p6 X8R X 16 -
016 B8R ©6 — - 96 X8R X @16 -
08 40R — 40R X p8 X8R X @16 -
- — $8 X8R X 16 -
o122 6R = = = B6R X pl2 =
R A ®»13 6.5R = = = 65R X 913 =
Rt;;e ®16 8R = = = 8R X 016 =
SK-10D/SK-11D 16R = = = 16R X ¢ 18 =
H—) LSBT T ?18  o0R - = — [ 20R x 018 <
FUIRLYY— 3 - 5 40R | B0° | 40R X 96 X60° X 916 | «
¢ ¢ — B60° 96 XB60° X @13 -
DriIIing.machine 16 _ 06 750 40R X zpeo X 75 X pl6 -
mounting type _ 60 p6 xX60° X ¢lb6 b
Tip dresser 75° 6 X75 X @pl6 -
04 40R 9Q0° 40R X p4 X 90° X ¢18 -
P #I — 9Q0° p4 X90° X ¢18 h
P type 40R 90° 40R X pb X 90° X 18 -
05 120° 40R X p5 X 120°X ¢ 18 -
018 _ _ Qo0r p5 X90° X ¢18 b
120° 05 X 120° X ¢18 -
A0R S[oN 40R X B X 90° X 918 -
06 120° 40R X o6 X 120°X ¢ 18 -
_ Q0r p6 X90° X ¢18 b
120° 06 X 120° X ¢ 18 -
F &
e ®18 = = = = F X 918 =
CDBDTA XICEAULELUCIF. ZFEETT,
Other sizes are manufactured after receiving an order.




SHINKOKIKI ()

R<T/H#ESPom

Maintenance / Consumables

Hwyy—R  TEBEWEA For Cutter blade/Lower electrode

t

TRM R—=)LERX R v T— 25 25 X F
TRM drilling machine dresser ¢ 30 30 X F <=

HwH—F N—ZXFwTH For cutter blade/base tip

. . @B For g6 WBT-S1 & WBT-S1revision -
Db o= 08F Forp8 WBT-S2 # WBT-S2 revision -

BTD drilling machine dresser for base tip = —
72wk Forflat WBT-S3 2 WBT-S3 revision -

HwH—ik)LS— Cutter holder

'

F+wvtE— Cappy ®13 /916 ®13 /916
PC FwvJRLwt— PC tip dresser ®13 /916 ®13 /016

t

v —4—2X Cutter case

18A X @9 —
18AXp10 -
SK-10D / SK-11D 18A H 18AXgp12 -
R—)VBEG BT v T R v P — For18A 18A X @13 b
1BAXp16 -
SK-10D / SK-11D 18AXp16.6 -
Drilling machine mounting tip dresser 25A X 16 —
25A DA X 19 g

For 25A o
25A X ¢ 20 —

FywIT+v2/2 Chuck shank

++wvt— Cappy 016 Pk 2w M -

Cone/slit type

EBERRIVSY— FvwvTIFwvTH For Eectrode holder/Cap tip

.
A/Péé;e/vat%cf?fs]tf;ﬁms @13 %010-T-1.79.6 -

TAM M—JLBR KLy T— A/P/AF/tylze/w'i:t::ufEﬁs]fferG QIS X@lerrl 7 &l -
TRM drilling machine dresser Fo'f Eét‘fp]f f] . E13X@10T-1./ 96 -
o Eﬂ‘%ﬁﬁ 5 E16 X¢12.6T-1 /9.6 -

EfER)VY —  TEPEREFH For Electrode holders/Lower eectrode

TRM R—)LEX Ry I — @25 A For 925 - ¢ 25
TRM drilling machine dresser ¢ 30 A For 30 — ¢ 30
PIvANIUDT
TSR 4 (BEEEH =11Tmm) . TSR 4
TRM h—)LEEH R Wt — Plus 4 (thickness of electrode = 11 mm) Plus 4
TRM drilling machine dresser TSR 5 (BEHEH =10mm) _ TSR 5
Plus 5 (thickness of electrode = 10 mm) Plus 5




Q—

EEMNEEEBR (RTHEDR
Maintenance / Consumable parts for productivity enhancers
Fwv iRV MEFSEEERGR  Nut/bolt supply parts

M4 150 F1-PR-M4-150ST -~
200 F1-PR-M4-200ST —
M5 150 F1-PR-M5-150ST -~
200 F1-PR-M5-200ST -~
e 150 F1-PR-MB-150ST —
D R ME 200 F1-PR-M8B6-200ST -~
150 F1-PR-M8-150ST -~
Fiee M8 -M10 200 F1-PR-M8-200ST p
150 F1-PR-M12-150ST -~
M12 - UNF 200 F1-PR-M12-200ST -~
M14 150 F1-PR-M14-150ST —
200 F1-PR-M14-200ST —
M4 150 F1-PRCY-M4-150ST -~
200 F1-PRCY-M4-200ST =
M5 150 F1-PRCY-M5-1508T =
200 F1-PRCY-M5-200ST —
S [T 150 F1-PRCY-M6-150ST =
Dy E2U> Y S 200 F1-PRCY-MB-200ST =
) ) 150 F1-PRCY-M8-150ST <=
Cylinder with rod M8 - M10 500 E1-PRCY-M8-200ST -
150 F1-PRCY-M12-150ST -~
kS MT& - UNF 200 F1-PRCY-M12-200ST =
TJTowHR M14 150 F1-PRCY-M14-150ST =
o -PRCY-M14-200ST —
25
Dragon
Phoenix L& ER—R _ _ _ _
Star Urethane square hoses
M4 = = FS-RP-M4
.o - M5 = = FS-RP-M5
Ow kw32 M6 = = ES-RP-M6
) M8 - M10 = = FS-RP-M8
Rod packing M12 = - FSRP-M12
M14 = = FS-RP-M14
BN _ _ _
Magnetic board FS-MGP-N
A TO—NT xR MR . . .
Yellow magnet board FSRlEl
_ _ #RZE 00.8 TR
Wire diameter ¢ 0.8 FS-TB-BO8
2 wE 00.9
— — ) ) FS-TB-BO9
SR R Black | Wire ;;:Zt?rc;p 09
WRAE .
- - L FS-TB-B10
Spring-loaded hinges Wire diameter 1.0
— — iR N FS-TB-TGS
— — Silver &1 Middle FS-TB-TGM
- - HIH! A FS-TB-NMA
— — Cutting B FS-TB-NMB
RIVNT 4 —5— L&A~ B B B B
Bolt feeder Urethane round hose

MDD YA XDENHEDET, % Orders for other sizes are also available.



SHINKOKIKI ()

R<T//H#EEBom

Maintenance / Consumables

HA4 RE> Guide pin

M4 X 4.8 FS-GP2-M4 X 4.8
M4 X 5.0 FS-GP2-M4 X 5.0
M5 X 5.8 FS-GP2-M5 X 5.8
M5 X 6.0 FS-GP2-M5 X 6.0
M6 X 6.5 FS-GP2-M6 X 6.5
M6 X 6.8 FS-GP2-M6 X 6.8
UhZB 2 DR+ (FS-GP2 f) MB x 7.0 FS-GP2-MB x /7.0
M8 X 8.8 FS-GP2-M8 X 8.8
Pin-no-suke 2 Robosai (For FS-GP2) M8 X 9.0 FS-GP2-M8 X 9.0
M10 X 10.8 FS-GP2-M10 X 10.8
MIOX 11.0 FS-GP2-M10 X 11.0
M11 X 13.0 FS-GP2-M11 X 13.0
M12 X 12.8 FS-GP2-M12 X 12.8
M12 X 13.0 FS-GP2-M12 X 13.0
M14 X 149 FS-GP2-M14 X 14.9
M4 X 4.8 =
M4 X 5.0 ~
M5 X 5.8 «
Chs 3 Mo x5 -
FULRAILS— Ot M6 > 6.8 =
=R — @Oy MAYAZFREY) 148 < 700 -
M8 X 8.8 <=
Pin-no-suke 3 Robosai M8 X 9.0 p
Sp?\;téfglheﬁilgglrder (Ceramic pins for robot) M10 % 10.8 -
M10 X 11.0 &=
M11 X 13.0 =
M12 X 12.8 <=
M12 X 13.0 =

MDD YA XDEXHEDET, % Orders for other sizes are also available.

TEpEIEF v N Lower electrode for nut

4.8 825B0-4.8
®»5.0 825B0-5.0
5.8 825B0-5.8
6.0 825B0-6.0
6.5 825B0-6.5
o - ®25 ©»6.8 825B0-6.8
é('fjif}'i I{;’J 'JEE%“E 07.0 825B0-7.0
Bl B 2JUF S 2 E ¢80 8258080
Pin-no-suke . _ »8.8 825B0-8.8
Our original electrode | Spanner hook 2 sides »9.0 825B0-9.0
(Lowevrveelff]tljgde for ©10.0 82580-10.0
®»10.8 830B0-10.8
®11.0 830B0-11.0
®»11.8 830B0-11.8
¢3S0 »12.0 830B0-12.0
128 830B0-12.8
®»13.0 830B0-13.0




@—

EEMR EREA (RS HFESRm

Maintenance / Consumable parts for productivity enhancers

4 5.1 3 | TDWC-S25-T3-5.1
5.3 3 | TDWC-S25-T3-5.3
. 6.1 3 | TDWC-S25-T3-6.1
025 »6.3 3 | TDWC-S25-T3-6.3
. ®7. 3 | TDWC-S25-T3-7.1
BT OwS v F S »7.3 3 | TDWC-S25-T3-7.3
9.1 3 | TDWC-S25-T3-9.1
UFO &2 Stepped washer tip M8 ¢
(FvhA) »9.3 3 | TDWC-S25-T3-9.3
UFO | 2t 2@ J {} Ve ®9.1 3 | TDWC-832-T3-9.1
electrode AT ®»9.3 3 TDWC-S32-T3-9.3
(for nut)
Spanner hanging | | 1. o |2 1.1 3 | TDWC-S32-T3-11.1
ML o-sided type . ®11.83 | 3 | TDWC-S32-T3-11.3
une L2 12.1 3 | TDWC-832-T3-12.1
ChZB) - »12.3 3 | TDWC-S32-T3-12.3
Pin-no-suke e ® 13.1 3 | TDWC-832-T3-13.1
ﬂ »13.3 3 | TDWC-832-T3-13.3
FuIRs— (2HE) o5 _ _ 5.5 | TDWH-B25-55
Tio holder (2 sides) |~ @ 85 | TDWH-B25-85
—
5.5 | TDWH-B32-55
»32 - -
8.5 | TDWH-B32-85
S v ®5.0 — | TNOB-S82515-H1421-5.0
VA RVAD) »5.2 — | TNOB-S2515-H1421-5.2
Tip body »60 | — | TNOB-S2515H1421-6.0
(With viton) M5
o5 »B.2 — | TNOB-S2515-H1421-68.2
V6 ®»7.0 — | TNOB-S82515-H1421-7.0
»7.2 — | TNOB-S2515-H1421-7.2
Ve 9.0 — | TNOB-S2515-H1421-9.0
»9.2 — | TNOB-S2515-H1421-9.2




SHINKOKIKI ()

R<T//H#FEERo

Maintenance / Consumables

FyvIRTA— »9.0 — | TNOB-83215-H1421-9.0
A bAD) M8 09.2 — | TNOB-S3215-H1421-9.2
Tip bod ®11.0 — | TNOB-83215-H1421-11.0
(With viton) - MIO o2 —  |TNOB-S3215-H1421-11.2
¢ Une @120 — | TNOB-83215-H1421-12.0
p12.2 — | TNOB-83215-H1421-12.2
V1o | @130 — | TNOB-83215-H1421-13.0
»13.2 — | TNOB-83215-H1421-13.0
" »5.0 — | TNOB-S2510-W0815-5.0
052 — | TNOB-S2510-W0815-5.2
e »6.0 — | TNOB-S2510-W0815-6.0
T 2 & 525 ©6.2 — | TNOB-S2510-W0815-6.2
ST Ve »7.0 — | TNOB-S2510-W0815-7.0
072 — | TNOB-S2510-W0815-7.2
Spanner hanging | T Y M7 A — 9.0 — | TNOB-52510-W0815-9.0
UFO =8 | 2-sidedtype | U hV/RRL) M8 92 | — | TNOB-S2510-W0815-9.2
(Fvhm) (Wi;'gulioﬁtom . ?9.0 — | TNOB-S3210-W0815-9.0
UED »9.2 — | TNOB-S3210-W0815-9.2
clectrade vio @110 — | TNOB-S3210-W0815-11.0
(for nut) 032 »11.2 — | TNOB-S3210-W0815-11.2
UnE @120 — | TNOB-83210-W0815-12.0
u pl12.2 — | TNOB-S3210-W0815-12.2
Mo | @130 — | TNOB-S3210-W0815-13.0
- »13.2 — | TNOB-S3210-W0815-13.2
TNBP-T2-13- [I[1.[]
UhZBh 025 O b DFE (FyvTmT+DILE+ 0.2 ZBRICLTTELY)
[J[]; Hole diameter of viton (use the hole diameter of tip
Pin-no-suke ﬂ JNA R body + 0.2 as a guide)
Viton TNBP-T2-17- (.0
— 032 O t\‘/(_D?L?% (?‘yjfr‘\‘j'-‘%@?L?%Jr 0.2 EE?[:L?TF_VL\)
(] : Hole diameter of Viton (use the hole diameter of tip
body + 0.2 as a guide)
BTy v F T M4 5.1 3 UFO-TIP-28 X 5.1
Stepped washer tip 028 M5 ®»6.1 3 UFO-TIP-28 X 6.1
M6 »7.1 3 UFO-TIP-28 X 7.1
M8 9.1 3 UFO-TIP-28 x 9.1
2T 6 £ 'E} MIO | ¢11.1 3 UFO-TIP-35 X 11.1
SA4T »35 UNF | p12.1 3 UFO-TIP-35 x 12.1
1 MI12 | 913.1 3 UFO-TIP-35 X 13.1
Spanner hanging M4
hexagonal type | Fy L5 — (6£) M5
Tip holder ®»28 Y - - UFO-CAP-28
(Hexagon) M8
p—— M10
i »35 UNF - - UFO-CAP-35
M12
P M4 5.1 — UFO-NUT-BODY-M4
T el 028 M5 6.1 = UFO-NUT-BODY-M5
M6 071 = UFO-NUT-BODY-M6
M8 9.1 - UFO-NUT-BODY-M8
MIO | ¢11.1 - UFO-NUT-BODY-M10
»35 UNF | p12.1 - UFO-NUT-BODY-UN
M2 | »13.1 - UFO-NUT-BODY-M12 _—

YA ZXANOERKIF, SEROBATHDFT, FULF,. EEROCTHHESIEEL,
¥ Various sizes and shapes are available. Please contact our sales office for details.



mBHERER (R<F HFEERm _
Maintenance / Consumable parts for quality judgement equipment
HA4 RE> Guide pin

46 KCF-M4-4.6
48 KCF-M4-4.8
5.0 KCF-M4-5.0
52 KCF-M4-5.2
M4

58 KCF-M4-5.8
6.6 KCF-M4-6.6
68 KCF-M4-6.8
7.0 KCF-M4-7.0
5.0 KCF-M5-5.0
52 KCF-M5-5.2
5.4 KCF-M5-5.4
56 KCF-M5-5.6
58 KCF-M5-5.8
e 6.0 KCF-M5-6.0
6.2 KCF-M5-6.2
6.4 KCF-M5-6.4
el KCF-M5-6.6
6.8 KCF-M5-6.8
7.0 KCF-M5-7.0
8.0 KCF-M5-8.0
6.0 KCF-M6-6.0
6.2 KCF-MB-6.2
s 6.4 KCF-M6-6.4
e 6.6 KCF-MB-6.6
FuRSYF— KCF A REY 6.8 KCF-M6E-6.8
7.0 KCF-MB-7.0
PC tester KCF guide pin 7.0 KCFE-MB-7.2
Pcl\ﬁﬁftrigﬁeer“te M6 7.4 KCF-MB-7.4
76 KCF-MB-7.6
7.8 KCF-MB-7.8
8.0 KCF-MB-8.0
8.2 KCF-MB-8.2
86 KCF-MB-8.6
8.8 KCF-MB-8.8
9.0 KCF-M6-9.0
8.0 KCF-M8-8.0
8.2 KCF-M8-8.2
8.4 KCF-M8-8.4
8.6 KCF-M8-8.6
8.8 KCF-M8-8.8
9.0 KCF-M8-9.0
e 9.2 KCF-M8-9.2
9.4 KCF-M8-9.4
96 KCF-M8-9.6
9.8 KCF-M8-9.8

100 KCF-M8-10.0

10.4 KCF-M8-10.4

106 KCF-M8-10.6

108 KCF-M8-10.8

M6E/M8S 35 8.8 KCF-M6/M8 x 8.8
MB/M8 dual use 9.0 KCF-M6/M8 x 9.0




SHINKOKIKI ()

R~/ /H#%EEBom

Maintenance / Consumables

H4 RE> Guide pin

10.0 KCF-M10-10.0

10.4 KCF-M10-10.4

10.6 KCF-M10-10.6

10.8 KCF-M10-10.8

11.0 KCF-M10-11.0

11.2 KCF-M10-11.2

11.4 KCF-M10-11.4

M10 11.6 KCF-M10-11.6

11.8 KCF-M10-11.8

12.0 KCF-M10-12.0

12.2 KCF-M10-12.2

12.4 KCF-M10-12.4

12.6 KCF-M10-12.6

12.8 KCF-M10-12.8

13.0 KCF-M10-13.0
- ]]_4 KCF-1=2J71-11.4

PC 72— KCF-Unify-11.4
PCTARY—TF o KCF-1=774-11.8

PV KCF A1 rEY 11.8 KCF-Unify-11.8
PC tester KCF guide pin 12.0 KB o7 -120
PC tester Petite KCI;CF-EJmfy-] 2'102 4

Nut runner 1= 124 KC%—Urif}y-TEA :

: KCF-1=774 -12.6

Unity 128 KCF—Unif;/-/]rE.S
128 KCF-1=J7-12.8

KCF-Unify-12.8
150 KCF-1=774 -180

KCF-Unify-13.0
128 KCF-1=J7-13.8

KCF-Unify-13.8

12.6 KCF-M12-12.6

12.8 KCF-M12-12.8

13.0 KCF-M12-13.0

o 13.4 KCF-M12-13.4

13.8 KCF-M12-13.8

14.0 KCF-M12-14.0

14.8 KCF-M12-14.8

15.0 KCF-M12-15.0

% COMICERCETA X TER - EOHA REVZRDHEA THEDET,

Fllld. ABBABBAHYOI ZCEVCEKH, BEROICTHERIEE,.

% In addition to the above, guide pins of various sizes, shapes, and materials are available.

For details, please refer to our welding electrode catalog or contact our sales office.




mEHIERERA (R HFESbm

Maintenance / Consumable parts for quality judgement equipment
HA4 REY Guide pin

X
A 4.8 M4 X 4.8
5.0 M4 x 5.0
5.8 M5 x 5.8
M5 6.0 M5 X 6.0
W . >< .
— 6 6.8 M6 X 6.8
PCFR5— | (ORyMEYASFREY) 70 MB > 7.9
8.8 M8 X 8.8
PC tester Robosai M8 9.0 M8 X 9.0
(Ceramic pin for robot) 108 M10 x 10.8
M10
1.0 M1O X 11.0
M11 13.0 MI11 X 13.0
12.8 M12 x 12.8
M1z 130 M12 X 13.0

¥ COMITHRLETA X IR - MBOHA REVZRDRHIA TEDET,
S, BB BEABEAYOIZCEV KO, BEROICTHERSIESL,

¥ In addition to the above, guide pins of various sizes, shapes, and materials are available.
For details, please refer to our welding electrode catalog or contact our sales office.

TEpEIEF v N Lower electrode for nut

»4.8 826B0-4.8

»5.0 8256B0-5.0

»5.8 8256B0-5.8

»6.0 825B0-6.0

»6.5 825B0-6.5

PC TR5— 25 ®»6.8 825B0-6.8
POT25 77 | swruvrima o ©7.0 825807.0
(DTIURF v S REBER) 980 825B0-8.0

- Spanner hook 2 ®»8.8 825B0-8.8

PO . (Low%gz?gl:g‘tlrtzjﬂee:‘%?u%?;nut) i g ¢9.0 825B09.0
PC tester Petite ¢»10.0 825B0-10.0
Nut runner € 0108 830B0-10.8
»11.0 830B0-11.0

»11.8 830B0-11.8

oS0 »12.0 830B0-12.0

»12.8 830B0O-12.8

»13.0 830B0O-13.0

¥ COMISHRATETA X K - MBOHA REV ZRDHIATHEDF T,
SME. BHABEABRAYOIZCEV <N, BEEROICTHHKSIESL,

¥ In addition to the above, guide pins of various sizes, shapes, and materials are available.
For details, please refer to our welding electrode catalog or contact our sales office.



SHINKOKIKI ()

TFEREWRF N Lower electrode for nut

R~/ /H#%EEBom

Maintenance / Consumables

PCFTR&5—
PC TR&—
P

PC tester
PC tester
Petite

UFO EtR
(Fwv A

UFO

electrode
( For nut)

@
n

A)FHT 2 HE
e

Spanner hanging
2-sided type

4 ?5.1 3 | TDWGC-S25-T3-5.1
?5.3 3 | TDWC-S25-T3-5.3
Vi ?6.1 3 | TDWC-S25-T3-6.1
BHDYIvFYT | o5 ?6.3 3 | TDWC-S25-T3-6.3
V6 7.1 3 | TDWC-S25-T3-7.1
Stepped washer tip »7.3 3 TDWC-525-T3-7.3
Vi ?9.1 3 | TDWC-S2573-9.1
9.3 3 | TDWC-S25-T3-9.3
{} " 9.1 3 | TDWC-S32-T3-9.1
09.3 3 | TDWC-S32-T3-9.3
— vio @11 3 | TDWC-S32-T3-11.1
530 »11.3 3 | TDWC-S32-T3-11.3
UNE @12 3 | TDWC-S32-T3-12.1
»12.3 3 | TDWC-S32-T3-12.3
vip @131 3 | TDWGC-S32-T3-13.1
133 3 | TDWC-S32-T3-13.3
FyIHILS— (2HE) 55 | TDWH-B25-55
Tip holder (2 sides) ®25 - - 85 TDWH-B25-85
ﬁf‘ 3o ~ ~ 55 | TDWH-B32-55
85 | TDWH-B32-85
4 ?5.0 — | TNOB-82515-H1421-5.0
$5.2 — | TNOB-S2515-H1421-5.2
Ve ?6.0 — | TNOB-S2515-H1421-6.0
FyvIRTA— 6.2 — | TNOB-S2515-H1421-6.2
(A hVAD) @25 V6 7.0 — | TNOB-S2515-H1421-7.0
Eh—, p7.2 — | TNOB-S2515-H1421-7.2
(With viton) Vi ?9.0 — | TNOB-S2515-H1421-9.0
9.2 — | TNOB-S2515-H1421-9.2
Vg ?9.0 — | TNOB-S3215-H1421-9.0
9.2 — | TNOB-S3215-H1421-9.2
vip L2110 — | TNOB-S3215-H1421-11.0
- p11.2 — | TNOB-S3215-H1421-11.2
UNE L2120 — | TNOB-S3215-H1421-12.0
o122 — | TNOB-S3215-H1421-12.2
vio @130 — | TNOB-S3215-H1421-13.0
132 — | TNOB-S3215-H1421-13.0
V4 ?5.0 — | TNOB-S2510-W0815-5.0
5.2 — | TNOB-S2510-W0815-5.2
- ?6.0 — | TNOB-S2510-W0815-6.0
525 6.2 — | TNOB-S2510-W0815-6.2
Vi 7.0 — | TNOB-S2510-W0815-7.0
7.2 — | TNOB-S2510-W0815-7.2
FyIRT 1~ ?9.0 — | TNOB-S2510-W0815-9.0
U hRL) M8 92 | — | TNOB-S2510-W0815-9.2
Tip holder Vg ?9.0 — | TNOB-S3210-W0815-9.0
(Without viton) 9.2 — | TNOB-83210-W0815-9.2
vio @110 — | TNOB-S3210-W0815-11.0
- p11.2 — | TNOB-S3210-W0815-11.2
UNE L2120 — | TNOB-S3210W0815120 e
o122 — | TNOB-S3210-W0815-12.2
vip | ©130 — | TNOB-S3210-W0815-13.0
132 — | TNOB-S3210-W0815-13.2

$UAZANOEKG, SEEODBFATHDFET, FULF,. EXEROCTHRLIEEL,
¥ Various sizes and shapes are available. Please contact our sales office for details.



®—

mEFIEREA (X5 HFEtbm

Maintenance / Consumable parts for quality judgement equipment

TEREHEF v N Lower electrode for nut

TNBP-T2-13- [1].[
PCF7R5— UFO &Bi& 025 OO0 MDAE (FyIRTADILE+ 0.2 ZBRICUTTELY)
PC 7 R5— G Sﬂ_) Z)NFHNT 2 M| SO [J7; Hole diameter of viton (use the hole diameter of
JgF UFo AT tip body + 0.2 as a guide)
PC tester electrode Spanner hanging Viton TNBP-T2-17- .
PC tester i it 2-sided type 032 OO A MDAER (FyIRT«DILE+ 0.2 ZBRICUTRELY)
Petite [JJ: Hole diameter of viton (use the hole diameter of
tip body + 0.2 as a guide)

U4 XROEIRE. SEWMOFATEDFRT, FULE. BEEROICTHEMLIET0,
¥ Various sizes and shapes are available. Please contact our sales office for details.

TEBEHEF v N Lower electrode for nut

BEDyYvFuT M4 5.1 3 UFO-TIP-28 X 5.1

Stepped washer tip 028 M5 6.1 3 UFO-TIP-28 X 6.1

M6 o7.1 3 UFO-TIP-28 X 7.1

M8 ®»9.1 3 UFO-TIP-28 X 9.1
'E} M10 ®11.1 3 UFO-TIP-35 X 11.1
— 1 ®» 35 UNF pl12.1 8 UFO-TIP-35 X 12.1
1“?%{“; 67 M2 | ¢13.1 3 UFO-TIP-35 X 13.1

TS| RO §y(jéT%L;9_ »28 M/4!\/|/6’v|/5 - - UFO-CAP-28
K-F| (7w kHA) | Spanner hanging )
Tip holder M8
hexagonal type (Hexagon)
Nut runner UFO M10 /
K - F| electrode —F==r » 35 UNF ./ — = UFO-CAP-35
7F
e ) i1 M12
- M4 »5.1 — UFO-NUT-BODY-M4
FYIMT A — M5 06.1 | — | UFO-NUT-BODY-M5
Tip body ®»28

M6 ®7.1 — UFO-NUT-BODY-M6

M8 9.1 — UFO-NUT-BODY-M8
M10 o11.1 = UFO-NUT-BODY-M10

®» 35 UNF pl12.1 = UFO-NUT-BODY-UN
M12 »13.1 = UFO-NUT-BODY-M12

A XNROEIRG, SEEORATEDFET, FULEF. BEZROICTHEHIES0,
¥ Various sizes and shapes are available. Please contact our sales office for details.



SHINKOKIKI ()

R<T/H#ESb o

Maintenance / Consumables

TERE#RN)U M Lower electrode for bolt

BAET M4 ®5.1 3 TDWC-S25-T3-5.1
FwF 525 M5 06.1 3 TDWC-S25-T3-6.1
Stepped washer tip M6 071 3 TDWC-S25-T3-7.1
M8 9.1 3 TDWC-S25-T3-9.1
bk M8 ?9.1 2 TDWC-S32-T3-9.1
532 M10 ®11.1 3 TDWC-S32-T3-11.1
S UNF p12.1 8 TDWC-S32-T3-12.1
M12 ®13.1 3 TDWC-S32-T3-13.1
FuIRd— (2E)| ®25 - - 8.5 TDWH-B25-85
2= iR X Tip holder (2 sides) 032 = = 8.5 TDWH-B32-85
o ﬁg‘—) 2
2m
UF((,J:;Ieb%tI[gde Spanner
hanger
2 sides M4 8 4 20 4 X 8X20
n Hq)— 025 M5 9 5 20 5X 9X20
U= M6 10 6 20 6 X 10 X 20
2 M8 12 8 20 8 X 12 %20
~ = Saiper M10 14 10 25 | 14x10x25
F;%ijg_ 1 (Sleeve) ?32 M1 15 1 25 | 15x 11 x25
F24—
o= [ M12 16 12 25 16X 12 X 25
PC tester
PC tester
Petite
TBS-A30-42
HA RIA4 T TBS-A30-52
Guide pipe TBS-A30-62
I TBS-A30-82
N 20 | TBOB-52515-H2018S-04 *'
ST M4 042 30 | TBOB-S2515-H30185-04 *2
Tip body 20 |TBOB-52515-H2018S-05 *'
025 MS @52 30 | TBOB-52515-H3018S-05 *2
VB ©6.2 20 |TBOB-S2515-H2018S-06 *!
’ 30 |TBOB-52515-H3018S-06 **
20 |TBOB-S2515-H20185-08 *'
M8 08.2 30 | TBOB-52515-H3018S-08 *
M10 ¢»10.2 25 |TBOB-S3215-H2522S-10 *!
32 UNF pl1.2 25 |TBOB-S3215-H2522S-11 *!
M12 p12.2 25 | TBOB-53215-H25225-12 *!

T ZU—=TA 2 IARINATA

YA XNROEIREGE, SEIORATEDFET, 55ULKEF. BEROICTHERLTETL,
*1 \With sleeve *? With guide pipe

% Various sizes and shapes are available. Please contact our sales office for details.




mEFIERER (&5 HFEEPm

Maintenance / Consumable parts for quality judgement equipment
TERE#RN)LU M Lower electrode for bolt

13 TBGP-K2513-04

17 TBGP-K2517-04
21 TBGP-K2521-04

M4 ¢4.0 o5 | TBGP-K2525-04
29 | TBGP-K2529-04
42 | TBGP-K2543-04
13 | TBGPK2513-05
17 | TBGPK2517-05
21 TBGP-K2521-05
MS @50 o5 | TBGP-K2525-05
29 | TBGP-K2529-05
o5 42 | TBGP-K2543-05
13 | TBGPK2513-06
17 | TBGPK2517-06
21 TBGP-K2521-06
M8 ¢6.0 o5 | TBGP-K2525-06
29 | TBGP-K2529-06
== 'ﬁ . N }
515)% 'ja}%"—) 2 42 | TBGP-K2543-06
om| RIL R AA REY 13 | TBGP-K2513-08
UFOsketioe | g | =1 TecPKeEE 08
(For bolt) o 5 -
i ¥ | 999 a5 | Tacmxesesos
PC A5 — 29 | TBGP-K2529-08
PCFR5—TF 42 | TBGP-K2543-08
PG tester ¢E 14 | TBGP-K3214-08
PC tester Petite < 18 TBGP-K3218-08

22 TBGP-K3222-08
26 TBGP-K3226-08
28 TBGP-K3228-08
A 42 TBGP-K2543-08

-
' 14 | TBGP-K3214-10
18 | TBGP-K3218-10
w10 | s100 | 22 | TBGPK3222-10

L M8 ®»8.0

26 TBGP-K3226-10
28 TBGP-K3228-10
42 TBGP-K3243-10
14 TBGP-K3214-11
18 TBGP-K3218-11

932

22 TBGP-K3222-11

N @710 26 TBGP-K3226-11
28 TBGP-K3228-11
42 TBGP-K3243-11
14 TBGP-K3214-12
18 TBGP-K3218-12
M12 012.0 22 TBGP-K3222-12

26 TBGP-K3226-12
28 TBGP-K3228-12
42 TBGP-K3243-12

*¥TAZXROERIE, SREDEZATHEDET, :2ULIE. BEEROCTEHRLLLZET W,
% Various sizes and shapes are available. Please contact our sales office for details.




SHINKOKIKI ()

TERE#RN)U M Lower electrode for bolt

R<T/HFEEPm

Maintenance / Consumables

MNILSY T —

Bolt runner

UFO Ef&
Gz

UFO
electrode
(For bolt)

PVAVE::1b)
Sh=EE

Spanner
hook
Hexagon
type

FrvT7 (6A)
Cap (Hexagon)

ICKD

FvJ

Tip

28

M4 ~ M8

18.4

UFO-CAP-28

®35

M10 / 2A=T 74,/ MI12
M10 / Unify / M12

23.4

UFO-CAP-35

M4 051 3 |UFO-TIP-28 X 5.1

- M5 061 3 UFOTP28 X 6.1
M6 071 3 UFO-TP28 X 7.1
M8 091 3 |UFOTIP-28 x 9.1
M10 H11.1 3 |UFO-TIP-35 X 11.1

©35 13554 ®12.1 3 |UFOTIP-35 x 12,1
M2 $13.1 3 |UFO-TIP-35 X 13.1

HA)—

Saiper

M4 »4.0 20 4 ){— Saiper M4
M5 5.0 20 1)\~ Saiper M5
20 1)\~ Saiper M6
028 M8 ¢6.0 30 1 ){— Saiper M6-30
20 4 )J\— Saiper M8
M8 ¢80 30 4 ){— Saiper M8-30
25 4 )\— Saiper M10
M10 ¢10.0 8B 4 ){— Saiper M10-30
®»35 dA=T7A -
i ®»11.0 25 4 )\— Saiper UN
M12 »12.0 25 4 )\— Saiper M12

R+ —

Body

M4 80 | 29 |UFO-BOLT-BODY-W4
M5 90 | 29 |UFO-BOLT-BODY-M5
29  |UFO-BOLT-BODY-MG
028 M& ?10.0 39 |UFO-BOLT-BODY-MB-30
29  |UFO-BOLT-BODY-MS
M8 ?120 39 |UFO-BOLT-BODY-MB-30
34  |UFO-BOLT-BODY-M10
M10 0140 4 |UFOBOLT-BODY-M10-35
¢35 Jfﬁ; T »150 | 34  |UFO-BOLT-BODY-UN
M12 0160 | 34 |UFO-BOLT-BODY-M12

ST

Touch

M4 UFO-BOLT-TOUCH-M4
028 M5 UFO-BOLT-TOUCH-M5
M6 UFO-BOLT-TOUCH-M6
M8 UFO-BOLT-TOUCH-M8
M10 UFO-BOLT-TOUCH-M10
¢35 J1=T7A Unify UFO-BOLT-TOUCH-UN
M12 UFO-BOLT-TOUCH-M12

XA XROFRE, BEEDEATCHDET, FULE. EEROICTHERLIEEL,
% Various sizes and shapes are available. Please contact our sales office for details.




E-mail sales@shln.kokiki.co.'/

R -
F%)\UJF”(‘_ (3?% b @E.%Fﬁi"cabﬁ:ﬁb\Abﬁ'F*b\o- ........

and better performance.

Please contact our Sales Office closest to your area for the purchase of the prod
» 2025.07.1000F






